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Computer [Part-I] Solved Past Papers 1| Page
9. BIT stands for:
Chapter (a) Binary tree (&) hinary. digit
1 {c) Binary integer (d) Binary interval
—_— 10. 3 bytes is equal to: HR/G1-17)
(a) 16 bits (b) 20 Hits
- . () 24.bits (d) 30
BaSICS Of InfOI'matIDn 11. Which software is used f ‘personal
or business tasks? 1G1-17)
TeChnOIogy (a) Operaling system are
SECTION 1 12,
Multiple Choice Questions
From Exercies:
7. Smallest unit of memory is; (SWL-GI-15) | 13. 5'a combination of:
(a) Byte (b) Bit (LHR/G1-16)
(c) Character (d) Word d mechanical technology
From Punjab Board: agd clectrical technglog
1. Testing of a program component is called: ihd mechatronics technology
(MTN/GI-2016)(BWP/G1-17) iting and communication technology
(a) Pilot testing (b) Isolation testing Jprogram being used by computer are
(c) System testing (d) Unittesting % (AJK/G1-16)(SWL-19)
2. Testing all program components together in SDLC is Aimary storage (b) Cache
called: ﬁ Secondary storage  (d) Printer
(FSD/GIN-17)(RWP/G1-16) (SWL/GI-18)(SGEF19) 015 Which one is storage device? (FSD/G1-16)
(a) group testing (b) volume testing . -
() nm (d) composile.tesling (c; W :z; z‘na:r::a
3. System requirements are created during: . The physical part of computer is called:
" . (GRW/G1-16)
52; EAna;inl.s . 'ﬂl)'DeS]gn (a) software (b) shareware
(d) Development (c) firmware (d) hardware
4. A set of instructions that run 17. Which is a storage device? (D.G.K-19)(LHR/G1-15)
(a) Elepny. (b) CPU
(a) Hardware {c) Clock (d) BUS
{c) CPU 18. The program that contains instructions to operate a
5. Data processing is alsglknow device is called. (GRW/G1-15)(D.G.K-19)
8), (RW-GI-16) (2) Deyicedriver. (b) Device operator
(a) Knowledge e (c) Device linking (d) Device system
(c) Procedure 19. Types of application software: (LHR/G1-15)
6. Which of th gt/an example of system (a) 5§ (b) 4
software. ?F_KWIGI-IE) (SGD-19) © 3 @ 2
@ up.em utility program 20. The process of transferring a file from remote
(c) drivers ) Microsoft oflice computer to local computer on network is called:
7. Ang a: (RWP/G1-15)(FSD/GI-18) (GRW/GI-18), (LHR/GI-18) (FSD/GI-18)
(GRW/GI-18) (BWP-19) (a) dosmlondi (b) browsing
(a) sysl (b) application software N )
{c) (d) software packing 2 _(::‘ up]‘;::::ﬁ . _(:” ::t““g " ¢
. " - i3 . The el ic  circuil executes computer
8. (S::S;?"(;,H |3G:l1-v$:ahln free for a limited period is N sons is called: (RWP/G1-16)
(2) Freeware (b) Shareware (a) Monitor (b) Hard disk
(c) Groupware (d) Netware (c) CPU (d) Keyboard
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Solved Past Papers

Computer [Part-1]

______SECTIONI |

SHORT QUESTIONS ANSWERS

From Exercies:
1 What is the difference between hardware and

software?
Ans.
Hardware Software
1. Physical parts of the | 1. A set of instructions
computer are called given to the
hardware computer is called
software.
2. Youcantouch,seeand | 2. You cannot touch,
feel hardware. see and feel
software.
3. Hardware causes the [ 3. Software cause the

inpu output  and computer to perform

processing  operations desired functions

of data. such as word
processing.

4. Hardware is | 4. Software is developed
constructed using by writing instructions
physical materials or in progr: i
components. language.

EXAMPLES:-mouse, Application 50

printer and CPU OS,VLC

9, Define the term “Operating System” in your Own
wards.

Ans. An operating system is a set of pl that
manages all computer components and o
computer cannot work with i stem.
Users interact with the co ting
system.just like DOS,LIN]

11.  What do you understa
steps properly.

Ans. System developmengdi 15 a process of

defined SDLC sfag
mvemgnllon

e Implementation. ...

®  Operations and Maintenance.

From Punjab Board:
1 ‘What is an information technology?

(BWP/G1-15) (FSD/G1-15), (GRW/GI1-15),

(FSD/GI1-17), (GR] 16).(FSD/G1-16)

(D.G.K/G1-16).(MTN/GL

Ans. Information technology is

cumpu(ing with high-spegt

2. Caonvert 145 MB

Ans. 145 MB = 1430,

3. Identify two memory into bytes.

(BWP/G1-16)
(ATK/G1.16)
TByie = 8 bits
BRcoding phase in SDLC.  (GRW/G1-16)

s of a detailed plan describing how to
maintain ~ and  replace  specific...
Impleinentation: The software engineers start wnung
the code according to the client's requirements. .

‘What is operating system?

(RWP/G1-16)(BWP/G1-15)
. An operating system is a set of programs that
all c and i A

computer cannot work without operating system.
Users interact with the computer through operating
system.just like DOS,LINIX,UNIX

7. ‘What do you mean by implementation?
(RWP/G1-16)
Ans. In this phase, the system is implemented. It means

that the developed system is installed for use to solve
the problem. Users of the organization are also trained
1o operate the system

8. ‘Why we need training of users for a new system?
(LHR/GI-18)(LHR-19)
Ans. When adopting or creating new software, training

helps users adapt to changes in their be it roles, new
team members, or vendors, while support helps end-
users address issues they experience. Suppart enables
evolution of the software to better meet the needs of
the organization from identification of a need for
enhancement or bug fixes.

9. Define computer. (FSD/G1-18) (D.G.K-19)

Ans. C is a combination of hard and software.
computer is an electronic device on a programmable
machine that accepts data process il into useful
information according to the instructions given to it
and gives output. It can also store data on secondary
storage devices for later use.
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10.  Why interviewing are conducted? (FSD/GI-18) 16. Disti ¢ and software with
. . . . . examples. (FSD/GI1-17), (SWL/G1-17)
Ans. The interview is the primary technique for
information gathering during the systems analysis (GRW/G1-16), (MTN/G1-16), (MTN/GI-18) (MTN-15)
phases of a development project. It is a skilllwh'il:h Hardware
must be mastered by every analyst. The interviewing
skills of the analyst determine what information is 1. Physical parts of the L
gathered, and the quality and depth of that computer are called
information. Interviewing, observation, and research hardware .
are the primary tools of the analyst.
11, Define System Maintenance Phase, (MTN/G1-16) 2. Youcantouch, see oueannot touch,
feel hardware on see and feel
Ans. Maintenance is a process of upgrading the system to touched physically: software.
date the new of the users and to Hard Soft h
adjust the problems (if any) in the running ardware caigy oltware cause l[ c
system.Regular maintenance is essential for the ZDTW:E'[ to perform
betterment of the system or software. esired functions
such as word
12.  Enlist any four data gathering techniques. processing.
(AJK/G1-16)(LHR-19) Software is
developed by
Ans. Any research is only as good as the data that drives it, so writing instructions
1. Choosing the right technique of data collection ]lzngrsagé:.mmmg
2. Observation Application  software,
3. Questionnaire
4 Interview Write the use of stylus. (SWL/G1-15)
) ‘Ans. A digitizer consist of a flat, rectangular based and an
5. Focus Group Session input device stylus or puck. A stylus is a pen like
6. Evaluate their suitability under different circumnstan device with which user sketches an image.A puck is a
: ; "’ copying device with which the user copies an image.
13. What is logical design of a system? (SWL/G1-17) Puck looks like a mouse.The stylus or puck is
connected to the beard / pad by a wire
Ans. Lagical design describes the functional cap s of

the new system. It reviews the
and considers-the major system&;
design describes how the
deliver the capabilities speci

Digitizer along with Stylus and Cursor or Puck.

ng phase, develop
programming work

control the computer hardware and
interface with application programs.
ware helps (0 manage, maintain and
hputer rescurces. Examples of utility
programs are antivirus software, backup software
and disk tools.

18.

It is used for design maps and engineering drawings.
Don’t have to redraw graphics already created.
Define customized software. (RWP/G1-15)

. The software that is ped for a
or organization is called *Custom-built Software™. It is

also known as “Customized Software”. The
fessional team of prog il ling on the
ps these progr

Example: Patient information system, inventory
system, college system, inati
system are the examples,
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19. Compare system software with application | 25. Discuss concept of global village. (AJK-19)
software. Ans. The definition of a global village is the idea that
(RWP/G1-15), (RWF/G1-16), (LHR/G1-15), people are connecled by easy travel, mass media and
(SWL/G1-15), (SGD/GI-18) (BWP-19)(SGD-19) (FSD-19) electmnig: communications, and I become a single
. : community. An example of Ui al_village is all
Ans. System software is used for operating computer the combined societies throught
hardware. Application software is used by user 1o e e G sacie Vg
perform specific task. Systemsoftwares are installed One easy example of the Pt is
on the computer when operating system is installed. through the 'lnlErne_I. Havi phones
Some examples of system softwares are Device and access to [ree interne soon
Drivers, Language Processers, Anti Virus and Utility | 2¢, Why does application Weed operation
softwares, On the other side word processor, weh system? (RWP-19)
hrnw_ser.. media player, vle are examples of Ans. Application N bne i o
application softwares. . N N
it requires e and related supporting
20. State the purpose of data gathering. ibraries/run times (such
(D.G.K/G1-15) M) to work praperly. ...
Ans. Data collection is the process of gathering and system  software s the
measuring information on variables of interest, in an ng system (such as Windows,
established systematic fashion that enables one 1o -
answer staled research questions, test hypotheses, and ases of SDLC.
evaluate outcomes. L (RWP-19) (FSD-19)
21. What is system? List different components of
N L. me Development Life Cycle) Phases,
system. ' (BWPIG{ 15), (RWP..’(.;I 15) ogies, Process, nm Models
Ans. A computer system is a set of integrated devices that Gatheri d Analysi
input, output, pracess, and store data and information. ement Gathering and Analysis.
Computer systems are currently built around at least Design.
one digital processing 'device. There are five #3) Implementation or Coding.
hardware components in a computer systen: 4) Testi
Processing, Storage, Output and Comm #4) Testing.
devices. #5) Deployment.
22. Define bit and byte. (FSD/G1-15), (LHR/G1-15); #6) Mainlenance.
(FSD/G1-16), (GRW/G1-17) ASWL/G1-18)
Ans. Bit: A bit (short for "binary digit") is the gst unit SECTION 111
of measurement used to quantify compi
While a single hit can define a b LONG QUESTIONS
(1) or False (0), an individual bi . . .
Therefore, in camputer storag® bits 1) Explain computer software and its categories.
together in 8-bit clusters cal (GRW-19)
23. Differentiate hetween 2) Dilferentiate between Seftware and Hardware.
(GRW/G1-15),(RWP/ Describe the different categories of Software.
Ans. (RWP/G1-16).(D.G.K/G1-16),

fdata are processed,
or presented so as 1o
se[u] they are called

Megabyte: ‘A megabyte consists of 1024 kilobytes. Tt
is denoted by MB.

Gigabyte: A gigabyte consists of 1024 megabytes.

(LHR/G1-17) (BWP-19) (SGD-19)

X XX XX XX
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From Punjab Board:
Chapter 1. Layer that is responsible for transferring frames in

2

Information Networks

SECTION I

MULTIPLE CHOICE QUESTIONS

From PTB Exercise:
1. A LAN s a combination of:
(a) Network adapter cards
(b) LAN cables
{c) LAN application software
(d) Al
2. What layer of OSI model does data compression?
(a) Network (b) Presentation
{c) DataLink (d) Physical
3. Cabling an a linear Bus topology can be exte
using which of the following?
(a) Terminalor (b) Barrel connect:
{c) Network Adapter Card
(d) Medium
4. The Media Access Control sub layer rea
layer?
(a) Physical
{c) Network
5. FDDIisa:
{a) Ring network
{c) Mesh Network
6. How many pairs of,

multaneously
(LHR-GI-15)

1 ected to hub computer
{7/ (d) Star netwerk
8. standards for which layers of

(b) Physicalind Data Link layers
(c) Transport and Network
(d) Network and Data Link layers

10.

12,

13.

(
7. #ll! top most layer of OS] madel is:
a) transport (b) session

OSI model is:

(a) application layer
(c) presentation layer
All physical media deals withi,
(a) Application layer
(c) Presentation layer
The physical layout

(SWL/GI-18)

(a) Tapology
(c) Link

!i and terminates it:(SWL/G1-16)
(b) application
(d) session

(b] Network layer

(d) Presentation layer
(GRW/G1-16)
netwark (d) application

he layer that is responsible for flow control is

called (BWP/G1-15)
(a) Application (b) Session
(c) Physical (d) Transport
Terminators are used in topalogy.
(SWL/GI-18)
(a) bus (b) star
(c) ring (d) mesh
Which is not communication device? (FSD/GI-18)
(a) USB (b) UTP
{c) Router (d) Ethernet
. DSL stands for: (RWP-GI-18), (GRW/G1-17),
(D.G.K/G1-16), (RWP/G1-16)

(a) Direct Service Lease

(b) Domain Server Link

(c) Distance Service Line

(d) Digital Subscriber Line

‘Which of the following is not a type of Network?
(RWP.GI-18), (RWP/G1-16), (FSD/GI1-17)

(a) WAN (b) NAN

(c) LAN (d) MAN

The topology used for a small number of computer is

called: (GRW/GI-18)
(a) star (b) tree
(c) mesh (d) ring
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14. Each computer on a network is called:
(LHR/GI-18), (RWP/G1-17) (SGD-19)

(a) Link (b) Code
{c) Node (d) Mode
15. Identify the LAN protocol: (D.G.K/G1-17)
(a) IEEE (b) BELLLAB
(c) American (d) none

16. A connection for similar networks uses:
(RWP/G1-15), (SGD/G1-17)
(b) Bridge
(c) Gateway (d) Router
17. MAN stands for: (FSD/GI1-17), (FSD/GI1-17)
(2) Metropolitan Area Network
(b) Marked Area Network
(c) Metropalitan Area Network
(d) Manufactured Arrangement of Network
18. What type of Network is in Internet:(GRW/G1-15),

(a) NIC

(BWP/G1-17)
(a) LAN (b) MAN
{c) WAN (d) PAN
19. A netwark that places all nodes on a single cable is
called: (RWP/G1-17)
(a) star (b) mesh
(c) ring (d) bus
20. Two different networks can be joined by:
(GRW/ )]
(a) gateway (b) bridge
(c) network interface card
(d) cables
21. Identify LAN's protocol:
(@) TCP/IP (b) UDP
(c) Ethernet (d) HTTP,

network is called:
{a) Gateway
{c) Protocol

{a) ANSI
(c) SNA

ysical connection of each

? (LHR/G1-16), (FSD/G1-16)

(d) Gateway
(GRW/G1-16), (FSD/GI-18)
(b) existing facts

(d) by nature

{a) according to law

{c) historical event

27. Which of the following is not a type of protocal?
(GRW/G1-16)
(a) Ethernet (b) CCITT
(c) ARCnet (d) FTP,
28. One or more computers connegfed 1 3

(RYWP/G1-15)

(a) Ring network

(c) Star network
29. Total No. of layers in

(a) 6

©7
30. People on

a) Monitor

xercise:

5 the difference between LAN and WAN
a Network)?

AII A LAN (local area network) is a group of computers
and network devices connected together, usually
within the same building. ... A WAN connects several
LANs, and may be limited to an enterprise (a
poration or an org ) or ible to the
public. The technology is high speed and relatively
expensive,

2. ‘What method dose an Ethernet network use to
control access to the network?

Ans. Media Access Control: Because Ethermet is an
imparted media and all gadgets can transmit
whenever, media access is controlled by a system
called Carrier Sense Multiple Access with Collision
Detection (CSMA/CD) when working down the
middle duplex mode. Ethernet LAN typically uses
coaxial cable or special grades of twisted pair wires.
Ethernet is also used in wireless LANs. Ethernet uses
the CSMA/CD access method to handle simultaneous
demands. The most commonly installed Ethernet
systemms are called I10BASE-T and provide
transmission speeds up to 10 Mbps.

5. Describe the OSI Model and types of layers of OSL
Model.

The International Standards Organization (ISO)
developed the Open Systems Interconnection (OSI)
model. It divides network communication into seven
layers. Layers 1-4 are considered the lower layers,
and mostly concern themselves with moving data
around. Layers 5-7, the upper layers, contain
application-level data

Ans,
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8. Define the gateway and router.

Ans. Gateways regulate traffic between two dissimilar
networks, while routers regulate traffic between
similar networks. The easiest way to illustrate this
point is through an example. ... Because TCP/IP is
also the primary protocol of the Internet, you could
use a router to connect your network to the Internet.

From Punjab Board:
1)  Write the purpose of Gateway.
(BWP/G1-15), (BWP/G1-16)(LHR-19)
A pateway is an electronic device. It is used te
connect to or mere different types of networks. It
translates data from one format to the other. Different
networks may have different types of data and
different formats.Different networks may have
different formatsGateways receives data packet from
one type of network.It reads networks where data
packet is to be sent. It converts the data packet into a
format that the i can
What is Bus Topalogy anrl “"IIY terminators are
used in bus topology? (AJK/G1-16){(RWP/G1-16)
Bus topology is a network setup in which each
computer and network device are connected to a
single cable or backbone. The purpose of the
terminator is to absorb signals so that they do not
reflect back down the line. Ethernet networks require
a terminator at both ends of the bus
Describe the task of session layer. (GRW/G14 )
As a functional part of the OSI model, the
layer establishes, controls, and ends 8
occurring  between communicative  applicati
Primarily, the goal for the session layer is 10
coordinate active applications on va i
assigned protocols.
Write down two differences between I1SD!
(AJK/G1-16),(MTN/GI:

Ans.

2)

Ans.

3)
Ans.

4)

connections ;
DSL and fiber gpti
connections,. V
is around 250 i

ISDN £
ISDN s rated Services Digital
Nelwar | communication network

ges have been replaced by
data ission rate for an
ermany is 64 kbps, the average
¥ kbps.

ervices Digital Netwark (ISDN): ISDN is
transmission  system. which is used 1o
voice and data through copper telephone
wires. In other words, it's a circuit-switched data
transmission system that is used for voice and data
transmissicn over the wire.

5)

Differences

As far as the differences between ISDN and DSL
transmission system are concerned, there are several
differences one ean find:

In terms of speed, DSL is an_ISDN. DSL
sends data packets with speed 128Kbps
to over 100 Mbps using lafest] such as
VDSLv2. On the other finnd, ISDN cQ in two

different speeds i.e., 64Kl

In terms of price, IS] ‘l

than DSL.

ISDN and DSL ce sensitive. To get
it jld not be more than

pnling / Collaborative
(RWP/G1-16),

15 Pdll‘ KtGl -16), (SWL/G1-15)
3 (LHR/G1-16), (GRW/GI-18),
[RWP/GI-18) (LHR-19) (GRW-19)
aring information among varicus
group through computer network is
group computing. The workgroup
s also known as collaborative computing.
Windows workgroups organize PCs as
er local networks that facilitate easier
¢ of files, internet access, printers, and other

,’aca network resources. ...
Windows workgronps can contain

8)

Ans.

many computers but work best with 15 computers or

7 less.

Write two uses of bridge in network.

(FSD/G1-16) (MTN/G1-16)

. A bridge is an electronic device. It is used to connect

wo similar netwark segments. It alse controls the
data flow between them. When a bridge receives a
message, it reads addresses of both the sender and
receiver. If sender and receiver are in the same
network segment, the bridge does not pass the
message to the other network segment. The message
is directly sent 1o receiver.

Write the function of Physical layer of OSI Model.

(BWP/G1-17)(MTN/GI-18)

. The Physical layer of OSI model is the bottom-

most layer. This layer is related to the transmission
media for data transmission. This layer controls
and co-ordinates Lhe transmission of data in the
form of bit stream over a physical medium. It also
defines the rules by which the bits are passed frem
one node in the network 1o the next.

‘What is the function of presentation layer in OSI
model? (LHR/G1-18)
The presentation layer works to transform data into
the form that the application layer can accept. The
Presentation layer of OSI model performs data
transformations to provide a interface for
user applications. It means that data is translated
between the formats the network requires and the
format the computers of the end-users expect
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9)

Ans.

10)

11)

12)

13)

Which two topologies are combined to make tree
topology?

How tree topology is constructed?
(LHR/GI-18) (MTN-19)

A tree netwaork, or (star+busnetwark topology), is a
hybrid network topalogy in which star networks are
interconnected via bus networks. Tree networks are
hierarchical, and each node can have an arbitrary
number of child nodes.

List any two benefits of computer networks.
(D.G.K/G1-15) (RWP/G1-16), (BWP/G1-16),
(MTN/G1-16), (FSD/G1-16), (D.G.K/G1-16),

(FSD/G1-15), (GRW/G1-15), (SWLIG1-17),
(BWP/G1-17), (SGD/GI-18), (GRW/GI-18),
(MTN/GI-18)

Data Security

Communication

Sharing Resources

Sharing Software

Data Sharing

Cost Reduction

What is the purpose of transport layer?

‘These standards are prQ
and approved by so

14) Define Network Topology. (LHR/G1-16)

D.G.K/G1-17)(ATK-19) (SWL-19)
There are many ways in which computers can be
connected together in a compulters

Ans.

“Network Topology™ ORAmm
nodes irl a computer m:twur

aren Network
(RWP/G1-17)

ok (MAN) is a

15)

It covers a "smaller
WAN. Mobile phenes
1se MAN e.g TV cable.

of data on network Iayer of OSI?
(SWL/G1-17), (SWL/G1-17),
(LHR/G1-17), (SGD/G1-18)

16)

to transfer data between source and
. In larger networks, there may be several
ate networks between source :md deslinm_inn

route daln to desti It a
logical path between source computer and destination
computer

‘Write basic purpose of terminal. (GRW/G1-17)

. A personal computer in a network is called terminal,
it is also called a node.

18) State the purpose of Router. (SWL/G1-16),

(GRW/G1-16), (MTN/G1-17) (D.G.K-19)
Ans. The main purpose of a router is to connect multiple
networks and forward packets destined cither for its
own networks or other networks. A router is
considered a layer-3 device because its primary
forwarding decision is based on the information in the
layer-3 IP packet, specifically the destination IP

are. ANSI, l'EEE, address.
De-facto means g 2 " These | 19)  Distinguish between LAN and WAN.
§ ally and came into
These (MTN/G1-17)
ons worldwide SNA LAN WAN
of De-
1. Covers small | 1. Cover large
(AJK/GI1-16) geographical area. geographical area
s

analog or digital signals distorted by
transmissicn loss. Analog repeaters frequently can
only amplify the signal while digital repeaters can
reconstruct a signal to near its original quality.

2. Computer and devices | 2.
are directly connected

Computer may or may not
be physically connected.

through physical cables Telephone line or
for data transmission microwave system for data
transmission.

Data speed is slow in
WAN,

3. Data speed is very high | 3.
in LAN.
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LAN WAN 24) State CSMA/CD. (D.G.K/G1-15)
Ans, CSMA / CD stands for carrier sense multiple access
4. LAN requires very low WAN  require  very with collision detection.CSMA / CD can access the
cost equipment. expensive and  sensitive network at any time. Before transmidting data. CSMA
equipment. / CD station listens to the e determine
whether it is already in use. Iff is miist wait. If
5. LAN is primarily uses to WAN is used to share the netwark is not in use the i When
share resources like information,  browsing two stations transmit dafd simultaneously’ then the
internet, printer and Ifile web and sending emails. data collision occurs, C. tion can detect
Servers. collision, a special he network to
indicate that it is j
6. Ethernet card is used in Modem is used in ’ R
LAN WAN. Define ARCnet prois (BWP/G1-15)
L Resource Computer
7. In LAN, computers can In WAN, computers can N col. It uses twisted pair
be connected at only one be connected anywhere in 3/ and star topology.
place. the world. pr OSI modeL
(BWP/G1-15)
8. In LAN, normally In  WAN, normally
problems occurs due (o problems occur due 1o f OSI models are:
cable disturbance. telephone line or other
wireless medium etc.
20) Write the names of three LAN protocols.
(MTN/G1-17), (D.G.K/G1-16) (SGD-19)
Ans. The name are given below: l )
i . =  Presentation
(i) Topken Ring «  Application
(i)  Ethernet 27/ Define star topology. (GRWI/G1-15)
(i) ARCNet In a star network, all computers or nodes are directly
21) Which transmission media is used i connected to a central device. The central device is
called Hub/Switch. A larger network may consist of
-17) many hubs/switches. All the hubs or swilches in the
Ans. There are three major forms metia network are connected to each other. Different

wires twisted together in a
pair establishes one co!
electromagnetic signals.

, it first gets the token,
. When the node has sent

(LHR/G1-15) (MTN-19)

nterface card (NIC) is used to connect a
o local area network. It is a circuit board. It

in expansion slot on herboard. The
socket where the network cable is
connected. The most popular network interface card is
Ethernet card. It is also called LAN card.

Ans.

computers or nodes are connected 1o each hub.
Usually, the nodes are connected to the Hub with
unshielded twisted pair (UTP). Star topology is most
commonly used in LAN. This form of network shape
looks like a Star.
28) Enlist different components of LAN / Information
System.
(D.G.K/G1-17), (RWP/GI-18), (FSD/G1-15),
(RWP/G1-15), (FSD/G1-16) (BWP-19)
. The important components are as follows:
(0] Communication Media
(ii) Network-Interface Card (NIC)
(iii) Bridge (iv) Gateway (v) Router
29) Distinguish between Frame and Packet. (BWP-19)
A packet is the protocol data unil used in the network
layer. Frames are formed in data link layer of the OSI
whereas Packets are formed in Network layer. Framing

includes the source and destination MAC addresses (i.e.,
the physical address of the machine)
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SECTION —

1)

2)

3

4)

5)

6)

n

8)

9

10)

11)

LONG QUESTIONS

Write at least eight difference between LAN and
WAN. (MTN/G1-16), (AJK/G1-16)

Define Network and explain its types in detail.
(SWL/GI-18)

What is LAN? Where is it used? Discuss its uses
and advantages . (SWL/G1-15)

What LAN'’s protocols? Explain three types of
networking protocols.  (FSD/G1-15), (LHR/G1-15),

(FSD/G1-16) (RWP-19) (SWL-19)
What is computer network? Discuss different
network models. (RWP/G1-16), (FSD/GI1-17),
(D.G.K/G1-15),(GRW/G1-16), (RWP-19)
(FSD/GI-18), (GRW/GI-18), (MTN/GI-18)
(RWP-19) LLHR-19)

Describe any three netwark topologies in detail.

What is Bus Topology? Explain its
advantages and disadvantages with diagram.

Define star topology. Explain:
diagrams. Also discuss jfs
(LHR/G1-16),  (BWP/G]

(SGD/G1-1T) A

Define network
Topology with d

Explain any
Network. (GRW{§,
(A

Wha

ponents of Local Area
7), (RWP/G1-16) (D.G.K-19)

twork Standard? Explain its types.

(BWP-19)

e 2 2 0

Chapter

3

(b)  Commumication media,
(d) Ring network.

lon requires:

(b) Receiver

(b) Medium.
(d) All

rom Punjab Board:

Most of data transmitted over telephone lines user:

(SGD/G1-17)
(a) Serial Transmission (h) Parallel Transmission
(d) Hybrid Transmission

Start and stop Bits are not required in this type of
transmission: (LHR-19)(BWP/G1-17)

(a) Asynchronou (b) Synchronous

(c) Synch (d) M

Analog signals is measured in: (RWP/G1-17),
(D.G.K/G1-16), (SWL/G1-15) (SWL-19)

{a) volage (h) Hertz

(¢) Digits (d) Walt

The electromagnetic or light waves that represent

(¢) Digital Transmission

data are: (GRW/G1-17), (LHR-12)
(a) pulse (b) information
(c) wave (d) signal

An important property of fiber optics cable is:
(GRW/G1-16)(FSD/G1-16)

(b)refraction

(d)attenuation

(a) noise

(c) interference
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6. A type of communication that sends data using flow
control to synchronize data hetween sender and
receiver: (LHR/G1-16)
{a) Asynchronous transmission
{b) Synchranous transmission
(c) Isochronous transmission
(d) Monochronous Transmission

7. The songs and speeches represent:
(a) Image (b) Text
(c) Numeric (d) Audio

8. Digital signals are commonly known as:

(FSD/GI-18), (LHR/G1-16), (LHR/G1-16)
(a) Baseband (b) Broadband
{c) Band (d) Narrowband

9. Which communication medium requires line-of-

sight? (GRW/G1-17), (GRW/GI-18)

{a) microwave (b) fibre-optic

(c) twisted pair (d)coaxial

‘Which of the following technique uses modulation?

(GRW/GI-18)

(b) broadband

(d) bitband

ILHR/G1-15)

10.

(a) bandwidih
(c) baseband

11. The process of converting digital signals into analog
signals by a modem is:
(GRW/G1.16), (LHR/GI-18) (BWP-19)
(a) D (b) M i
{c) Merging (d)Mixing
12. The Modem's data transfer rate is measured:
(SGD/¢
(a) Kbps (b) Mbps
(c) MBps (d) GBps
13. Data is transmitted block by block ‘&
transmission.
{a) Synchrenous
(c) Digital (d) A
14. Amplitude is the characteri:
(a) Digital signal
{c) Parallel signal fmission
15. The device that receivy (LHR/G1-17)

{a) Source
(c) Transmitted

16. The music and (GRW/G1-16),
(BWP/G1-17)

(a) Image
(c) Num

17. Which of the fo types of data is used to
displ, ement? (RWP/G1-17)
(a) (b) video
{c) im (d) Text

18

>
a
A
=
2

of raw fact and figure is called: (BWP-

(RWP/G1-17)
(b)Information
(d)Procedure

{a) Data
{c) Processing

19. Select unguided media from the following:
(ATK/G1-16), (SWL/G1-17) (RWP-19)

(a) twisted pair (b) coaxial
(c) fiber optic {d) s:

20. Physical path that connects thé so receiver
is known as: (SV 1-16)

(a) communication channi
(b) decoder

(c) encoder

21, Data communica y a: (RWP/G1-15)
(a) Sender
(c) Medium d)All of these

22. A com i to transmit large

Ver long distance is. (GRW/G1-15)

(b) Broad band

(d) Cable

of a fiber-optic cable is.(GRW/G1-15)
(b) 62.5mm
(d) 62.5 microns

24. Asignal'is the representation of:(AJK-19)

15)5 Light wave
) Sun wave (d) Full wave

e height of wave within the given period of time is
called: (AJK-19)

(b) Heal wave

(a)  Frequency (b) Amplitude
(c) Signal (d) Light

26. Frequency is measured in: (MTN-19)
(a) Sec (b) Bps
() Vol (d) Hertz

SECTION II

SHORT QUESTIONS ANSWERS

From PTB Exercise:

L What is data Communication? Define the basic
component of communication network. (FSD-GI-15),

(GRW-GI-16), (FSD-GI-16), (RWP-GI-16)

Ans. The process of transferring information from one

location to another location electronically is called

Data Communication. In this process, data is

transmitted from one location to another by using

media and ion devices. The

pracess of transferring information from one location

to another location electronically is called Data

Communication. In this process, data is transmitted

from one location to another by using transmission

media and communication devices.
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2, Define the modem and its types. 5. Define the Modem.

Ans. Modem stands for modulation and demodulation. Itis | Ans. Modem stands for modulation and demodulation, It is
an electronic device. It converts digital signals into an electronic device. It converts digital signals into
analog signals and vice versa. It is used to send and analog signals and vice versa. It is ysed to send and
receive data  between two computers through receive data  between  twadPcol pulnrs through
telephone line. Both computers must have medems. telephone line. Both computers mipdems.
Types Of Modem 6. ‘What is bandwidth? Explai th priefly.
External Modem Ans. The amount of data that{gan bc trapsmiffed through

the transmission media en period of
Internal Modem time is called types of
Wircless Modem communication medi channel) have different
3, Differentiate  between Asynchronous  and bandwidths. Th of analog slgn:gls. is
Synchronous. (SWL/G1-15),(LHR/G1-15), meaured in pond), The bandwidth
of digital si d in bit per second (bps)
(BWP/G1-17), (FSD/GI1-17),(MTN/G1-17), or bytes per
(RWP/G1-17), (SWL/GI-18), (RWP/GI-18) | idéd media and unguided
(SGD-19) (RWP-19) (BWP-19) (FSD-19) medi (SWL-19)
Ans. Ans.  Guif iaThe type of communication media in
wl ation devices are directly linked with
Asynchronous Transmission Synchronous Transmission eac gables or physical media is called
1. Data is transmitted [ I. Data is transmitted he data sigrals are bounded to a
character by character. block by block or word 8 media, Therefore, guided me.dla is also called
by word, nec!m‘ The_ names of gulded or bounded
twisted pair wire, coaxial cable, and fiber
2. Data is not saved before | 2. Data is saved before -
transmitting. transmitting. /ded Media: The type of communicaticn media
in which communication devices sends and receives
3. Few :!mmc(ers can be | 3. Large volume o data signals through air or space is called unguided
transmitted at a time. can be transmi media. The data is communicated in the form of wave.
time. Unguided media provides means to transmit data
4. This data transmission | 4. signals but does not guide them along a specific path.
. The data signals are not bounded to a cabling media.
method is very slow. Therefore, unguided media is also called unbounded
5. The time interval | 5. media. The names of unguided ar unbounded media
between two characters are microwave, satellite, and mobile communication
is not fixed systems.
6. There may be gaps me Punjab Board:
between characters ‘What is start signal? List its difTerent states.
being transmitted (BWP/G1-15)
7. Ituse start and stop bits Ans. In lelecommunicalion, a start signal is a signal that
1o schedule as co prepares a device to receive data or to perform a
the transmission function. In asynchronous serial communication, start
information. K ol the transmission signals are used at the beginning of a character that
&1 information. prepares the receiving device for the reception of the
code elements.there are two slates
8 It is usgl It is useful in small | 2,  What is refraction? (D.G.K/G1-15),
organizatin. office. (MTN/G1-16), (SWL/GI-18)
Today it is 9. Today it is commonly | ARS. Refraction occurs as light passes across the boundary
used. between two media. Refraction is merely one of
several possible boundary behaviors by which a light

Brie ain the various communication media.
A path“through which data is transmitied from one
place to er is known as communication media. It

is also known us communication channel. The twisted
pair wire, coaxial cable, fiber optic cable, microwave,
satellite etc. are ion

of comm

wave could behave when it encounters a new medium
or an obstacle in its path.Refraction is the bending of
a light or sound wave, or the way the light bends
when entering the eye to form an image on the retina.
An example of refraction is a bending of the sun’s
rays as they enter raindrops, forming a rainbow.
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3. Define Text and Numeric data. 8. Write two names of unbounded media.
(SWL/G1-17), (SWL/G1-17) (RWP/G1-16)
Ans. Numerical data is data that is measurable, such as | Ans. The names of unguided or nnhuundcd media are
time, height, weight, amount, and so on. You can help microwave, satellite, and m communication
yoursell identify numerical data by seeing if you can systems.

average or order the data in cither ascending or
descending order. hey are typically used to represent
words and text. Character and string types can slore
sequences of characters from a character set such as ...
it is possible 1o have a numeric string, such as "1234".
4. State the purpose of telecommunication.
(FSD/GI11-17), (FSD/G1-15) (FSD/G1-16),
(SWL/GI-18) (RWP-19) (BWP-19) (SGD-19)
Tel is the t n of signs,
signals, messages, words, writings, images and
sounds or information of any nature by wire, radio,
optical or electromagnetic systems.

Telecommunication oeccurs when the exchange of
information between communication participants
includes the use of technology.

How does FDM work? (FSD/GI-18)
Frequency-division multiplexing (FDM) is a scheme
in which numerous signals are combined for
transmissicn on a single communications line or
channel. ... It accepts the input from each indivi
end user, and generates a signal on a dif]
frequency for each of the inputs,

FDM (Frequency Division Mulliplexing) tec
used. In which multiple signals can be transmitte:
the same time.

6. What is the Role of sender in Data Con

Ans

'.f)1 (SWL/G1-16),
.G.K-19) (LHR-19)

*1”. Each binary
By an electrical pulse inside the
“1" is represented by the presence

element of'data. A collection of 8-bits is called byte.
Typically a single character is represented by 8-bits
(or one byte) inside the computer.

1u'l n slglml
?

9. Distinguish between seri

parallel transmission.

G
) (GRW-19) (D.G.K-19)
. Atype of d in which a group of bits
‘channels or lines is called
jon, Each bit of data is transmitted
2pmmunication line. It is very fast
3 because multiple bits flow ata time.
dafa” transmission in which cne bit of
transmitied at a time, is called serial
ion. Data is sent sequentially one bit at a
&f a single communication channel or line.
transmission is slower than parallel
mission

(RWP/G1-17),
(SGD/GI-18), (FSD/GI-18)
Signals
An electromagnetic or light wave used to transmit
data from one place ta another is called a “signal”
there are two types of signal.
1 Digital Signal
" An electrical inside

pulse the computer

represented by 1 and the absence of electrical
pulse is represented by 0.

Digital Signal
2. Analog Signal
. These are conlinuous electrical signals in form
of wave Or carries wave.
. There are two characteristics of analog signals,

Frequency, Amplitude

+5V

-5V
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Differentiate between bascband and broadband.
(LHR/G1-15) (D.G.K/G1-16), (AJK/G1-16),
(RWP/G1-16), (RWP/G1-15), (SGD/G1-17),
(SGD/GI-18), (SWL/G1-17), (LHR/G1-17),

(MTN/G1-17) (RWP-19) (SWL-19) (MTN-19) (FSD-19)

Ans.

12.

Ans.

Baseband is a communication technique in which
digital signals are directly (transmitted over
ir issicn line without changing into analog signals
(i.e. without using modulation technique). The digital
sngnnls are commonly called baseband signals.

dband ion (echmque in which

is a
large amount Of data (such as voice and video) is
transmitted over lang distance. The data is sent by
madulating each signal onto different frequency. Far
this  purpose. FDM  (Frequency  Division
Multiplexing) technique is used, in which multiple
signals can be transmitted at the same lime.
List (with short detail) types of Modems?
(FSD/GI-18) (SGD/GI-18),
(SWL/G1-17), (GRW/GI-18)
Modem is a device that is used to convert analog
signal to digital and vice versa. These are two major
functions a modem performs modulation and
demodulation.
Types O Modem
1. External Modem External modem is attackfe
with system unit as an external device. It is con
1o compuler using serial cable to COMI or,
port or USB port. It also requires extern:
supply.
2. Internal Modem It is circuit board that is
inserted in the expansion slot of the mi
not l'requ:mly removed from cnmput:r

vice versa) and
edia is called modem
measure in bils per

signals into
transmils ov
speed.
second (b
kbps ov

Sell Testmg

2lephone lines.
as the capacity to check the

transmittegh, This requires the scurce and destination
modems to'have this feature.

Error Control: Modem use many different methods
of controlling errors for transmitted data

Computer [Part-1]

14, What is Modul and D dulati in

Modem? (D.G.K/G1-16), (MTN/GI-18) (RWP-19)
Ans. Modulation Process of conversation of digital signal

to analog signal is called modulation

Demodulation Process of

signal to digital signal is call

these two functions, the

which is an abbreviafion of

demodulation
15. Compare Asynchry and~" Synchronous

Transmission. G1-15)(LHR/G1-15),

Synchronous Transmission

Data is transmitted block
by block or word by word.

Data is saved before
transmitling.

U?ﬂi(l

Large volume of data can
be transmitted at a time,

data  transmission
hod is very slow.

This  data  transmission
methad is very fast.

The time interval between
two characters is same.

There may be gaps
between characters being
transmitted.

There are no gaps between
characters being
transmitted.

It use start and stop bils (o
schedule as control the

No start and stop bits are
used. it uses clock signals

transmission of | to schedule or control the

information. transmission of
information.

It is used in large | Itis useful in small office.

organization.

Today it is not commonly [ Today it is commonly

used. used.

16.

Give two advantages of fiber optics.

(SWL/G1-16), (ATK/G1-16), (RWP/G1-16)

Ans.

Provide a high sped data rate. It is faster 26,000 times

the transmission capacity of twisted pair media.

Covers lang distance.

No electromagnetic interference.

Data transmission is more reliable.
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17. How does microwave system work? 22,  What is meant by encoder? (BWP/G1-15),
(LHR/G1-16), (D.G.K/G1-17) (LHR/G1-16), (RWP/G1-17) (MTN-19)
Ans. Microwave (ronsmission is very high speed Ans. The encoder is an electronic device. Tt receives data
transmission. In microwave transmission, data is from sender in the form of digit nals. It converts
transmilted through air or space (like radio signals), digital signals into a form th#t can bg transmitted
instead of through cables or wires. Microwaves are through transmission mediumy
high [requency radio waves. Microwave uses line-of- | 23.  What is communication me 1-15)
sight transmission through space. The line-of-sight | Ans. A path through which d from one
means that data signals (or waves) can only travel in place ta another is known ton media, It
straight lines and cannot bend. is also known us com el. The twisted
18. Define mobile communication. (LHR/G1-16) pair wire, coaxial cab e optic cuhte. micrawave,
Ans. Mobile communication is a radio-based network. It satellite — efc. of communication
sends and receives data to and from the mobile channels.
computers. The data is communicated through radio | 24.  What is si|
signals from one location to another. The computers | Ans. A signal is electromagnetic current
can be connected (o the network through wireless that is used data from one device or
connections or through wires.
19.  Write two characteristic of analog signals. t behind virtually all
(GRW/G1-15), (FSD/G1-16), (FSD/G1-16),
(RWP/G1-16), (SWL/G1-15), (D.G.K/G1-15),
(FSD/G1-15), (BWP/G1-17), (LHR/GI-18),
(GRW/GI-18), (MTN/GI-18), (LHR/G1-17)
Ans. Characteristics Of Analog Signal : giither analog or digital. .
‘The analog signal has two characteristics. 5. ate hetween ?nm'iur and  Recelver
X of Data Communication System.
Frequency The number of times a wave repeals (BWP-19)
during a specific time interval is called frequen, 3 o s
is measured in Hertz (Hz). The basic s (| Sender, "
Amplitude The height of a wave for a given Medium / communication chnnnel: E.ncuder and
\ime is colled ampitude. decader) fo{ working of a communication sysl.Em.
The transmitter sends the message and the receiver
ey reccives the message. Themedium is the channel
over which the message is sent and the protocol
istheset of rules that guides how the datais
from ding Lo ing
List out types of data. (FSD-19)
Common data types include:
v > INTEGERS.
» BOOLEANS.
20. » CHARACTERS.
/G1-16), » FLOATING-POINT NUMBERS.
(GRW/G: , (RWP/GI-18), » ALPHANUMERIC STRINGS.

'GI-18) (S§GD-19)
fransmission rate  of
communicalion

(FSD/G1-16), (RWP/G1-16)(SWL-19)

s of transferring information from one
ther location electronically is called Data
Communication. In this process, data is transmitted from
one location to another by using transmission media and
communication devices.

26. Why fiber optic able is so fast? (GRW-19)

As the name suggests, fibre optic technology uses
pulses of light to carry data along strands of glass or
plastic.

It's the technology of choice for the government's
National Broadband Network (NBN), which promises
to deliver speeds of at least 100Mbps. When we're
talking about 'speed’ were actually talking about
throughput (or capacity) — the amount of data you
can transfer per unit time, And fibre optics can
definitely transfer more data at higher throughput
over longer distances than copper wire. For example,
a local area network using modern copper lines can
carry 3000 telephone calls all at once, while a similar
system using fibre optics can carry over 31,000.
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SECTION III
LONG QUESTIONS
What do you kmow about un-guided media?
Explain micro-wave and satellite media in detail.
(D.G.K/G1-16), (AJK/G1-16), (FSD/G1-15),
(FSD/G1-16), (SWL/GI-18) (SWL-19) (RWP-19)

What is Data Communications? Explain basic
of C ication Network.

(MTN/G1-17), (SWL/G1-17),
(LHR/GI-18), (MTN/GI-18) (BWP-19)

What is meant by communication channel?
Explain any two types indetail.  (RWP/G1-16)

What is guided media? Discuss different guided
media. (RWP/G1-15), (BWP/G1-16),

(FSD/G1-16), (RWP/G1-17), (GRW/G1-17),
(GRW/GI-18) (SGD-19) (FSD-19) (LHR-19)

% % 2 2%

1

2)

3)

4)

Chapter

4

Applications and Uses o
Computer

SECTION I
MULTIPLE CHOIC

From PTB Exercise:
1. CBT stands for:

be used for:
(b) Making budgets
(d) All of the above

ssor can be used to:

(b) Edit text

(d) All or the above

(a) Write text
{c) Print text

5. CAL stands for: (RWP/G1-15),
(D.G.K/G1-17), (FSD/GI1-17) (RWP-19) (AJK-19)
(a) Computer Aided Learning
(b) Computer Assist Learning
(c) Computer Added Learning
(d) None of the abave
6. Typically, an ATM can

{a) Keeping records

ter Aided Topography
the above

€y’ based weather forecasting depends an
ite collection of data form:

) Televisian (b) Weather Station
(c) Radar (d) Antenna
10, ICR stands for:

(a) Magic in Character Redo
(b) Magnetic Ink Character recognition
(c) Magnetic Ink (d) None of the above
From Punjab Board:
1. SPARCO department give information about:
(LHR/G1-17) (FSD-19)
(a) Robol (b) Airline
(c) Chatting (d) Weather
2. Which of the following is NOT an example of e-
commerce? (GRW/G1-16) (BWP-
19)
(a) electronic banking  (b) electronic shopping
(c) electr ibution (d) el ic mail
3. 'Which is not included in DMS?
(GRW/G1-15), (BWP/G1-17)
(b) Desktop publishing
(d) E-shopping

(a) Word-processing
{c) Reprographic

4. The process of producing multiple copies of a
document is called: (SWL/GI-18) (SGD-19)
(a) desktop publishing (b) image processing

(c) data management (d) reprographics
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5.

10.

11.

12.

13.

14.

15.

The software which is used to control all parts of
manufacturing process is called: (RWP-GI-18)

{a) CAD (b) MICR
(c) CAM (d) ATM
Most applications of robotics are in which area?
(RWF/G1-15),(SWL/G1-16)(GRW/GI-18)
(a) cooking (b) manufacturing
(c) teaching (d) farming
Electronic banking is also known as:
(LHR/GI-18)
(a) Cyber banking (b) Offline banking
(c) Interactive banking (d) Global banking
CAL stands for: (RWP/G1-15),
(D.G.K/G1-17), (FSD/G11-17) (RWP-19)
Computer added leering
Computer added learning

Compulter assistant learning

@)
(b)
(a)
(d)

The Fly-by-wire system is used in:
(MTN/G1-17) (LHR-19)

none

(a) Education (b) Industry
{c) Medical (d) Airline
CBT software is used in: (LHR/G1,15),

(RWP/G1-16), (RWP/G1-17)(SV
(a) Health (b) Education
(¢) Manufacturing (d) Forecastin
Many banks provide the facility of:

’19)

(a) CAD
(c) ATM

(a) ATM
(c) CAD

‘Which one is an of usé’of computer in
education: (LHR/G1-16)

(a) CAM b) D

(c) CAL T

‘Compute forecasting depends on
accurate collectiol from: (SWL/G1-15),

(RWP/G1-16)

(a) (b) Weather stations
(c) An (d) Television
‘Which of thie following is related to business?

(BWP/G1-15), (RWP/G1-16)
(b) Stock exchange
d) All

{a) Marketing
(c) Banks

16. Typically, an ATM can be used to:

(D.G.K/G1-16) (RWP-19)
(b) Make budgets
(d) j

The process of producing
document is called;

(a) Keep records

(c) With draw money
17.

(a) Reprographics
(c) Spread sheet
18.
(GRW/G1-16)
(p) mouse
(d) robet

19. fing office tasks using computer is:

(FSD/G1-16)
(b) Office automation
(d) Reprographi
(GRW/G1-15) (MTN-19)

20 ‘Computer based training
<) Certificate based training
d) Computer basic training
. Many products are designed by using:
(SWL/G1-15)
(b) ROBOT

(d) ATM

(a) CAD
(c) CAM

SECTION 11

SHORT QUESTIONS ANSWERS

From PTB Exercise:

1. Explain the term Computer Aided Manufacturing
Process.

CAM stands for aided ifi ing. It is
used to control manufacturing process. CAM system
is used to control production machinery the design
made by CAD system is used as input of CAM system

Ans,

are

. Production can be made very accurately and
consistently,

L] Around the clock production is very cheap.

Products design can be modified easily
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2, What is meant hy computer simulation?

(BWP/G1-15), (GRW/G1-16),(FSD/G1-16),
(FSD/G1-16), (BWP/G1-17), (FSD/G1-15),
(GRW/G1-15), (SWL/G1-16(LHR/G1-17),
(GRW/GI-18) (FSD-19)
Ans. A computer simulation is a special type of computer
model on program. It is used to represent the real
world system in other words, computer simulation is
an artificial system, which represents the working of
an actual system. Simulations are often used to train

the peaple or students when:

. Tt is impossible to build a system due 1o
econemical problems.

. Direct experimentation is impossible in real life
due to dangerous system

. System is not yet available .

Simulations are used in different fields of life. For
example, a flight simulation is used to train a pilot. It
will train the pilot to handle different situations that
can arise during the flight.

3. What is an ATM ?

Ans. ATM stands for Automated teller Machine, It is
installed in most of the banks. The customers can
draw money through ATM card from any branch of
that bank (or another bank) at any time of a day.

4. Explain how computer can be useful in business.

Ans. The use of in il is very i
today, in global markets, it is impossible to r
business without the use of computers tech:
Many business activities are performed ve
and efficiently by using computers.”
administrative paper work is also reduced by u
computers. Many business use website
products and contact their customers.

5 Explain how computer ean be useful i

Computer is playing very import:

d selling of products or
stems such as the internet

ucted electronically has grown
wide introduction of the internet.
commerce typically uses the world

percentage of electronic commerce is
gntirely such as access to premium content
on a website but most electronic commerce eventually
invalves physical items and their transportation in at
least some way.

7. How computer can be useful in weather

forecasting?
(MTN/G1-17),(D.G.K/G1-15), (FSD/G1-16),
(FSD/G1-15), (GRW/GI-15), (RWP/GI-18),

. Computer is also used in
purpose, computer-based
or models are used.
upon the nccumte T

ing syslems
ther forecasting depends

[raining  (CBT) is also called
nstruction (CAT). In this method,
an aid to teach the students in the
ectures already recorded are delivered
the classroom through computer.

the online shopping and banking.
(8GD-19)

ing or e-: Many

, pping conducted through Internet is known as
, electronic 1

% P organizations have their websites on the Internet.

These websites are used to sell goods and services.
Customers place their orders through websiles and
make paymenls using credit cards And a service that
allows an account holder to obtain account
information and manage cerain banking transactions
through computer network is called electronic
banking or e-banking. An electronic banking is also
known as online banking or cyber-banking,

10. Define Videoconferencing

Video conferencing is a meeling between two or more
people located at different places. Tt is conducted
through  computer network. It provides an
enviconment  of normal meeting. It enables
participants 1o see and hear each other at the same
time as if they are in the same room. Video
conferencing saves time and costs of travel.

g

From Punjab Board:

1. ‘What is the use of image processing system?
(FSD/G1-16)

It is a type of signal dispensation in which input is
image, like videa frame or photograph and output
may be image or characteristics associated with that
image. Usually Image Processing system includes
treating images as two dimensional signals while
applying already set signal processing methods 1o
them.

Ans.
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2.

Ans.

Ans.

Ans.

Ans.

Ans.

Write any two advantages of ATM using in banks.
(GRW/G1-16), (MTN/G1-16), (RWP/G1-16),
(RWP/G1-16),(LHR/GI- 18), (BWP/G1-15),
(SWL/G1-15), (LHR/G1-16)
ATM stands for Automated teller Machine. It is

Ans.

‘Write two benefits of computer in medical field?
(SWL/G1-17),(BWP/G1-17),(SWL/GI-18), (SGD/GI-18)
Compulter is playing very lmponnnl so[e in medical
fields nearly every area of thegii

computers. They are helping f
di and for many otheg

installed in most of the banks. The s can
draw money through ATM card from any branch of
that bank (or another bank) at any time of a day with
saving time
How computer can be useful in marketing?
(LHR/GI-18), (RWP/G1-15) (SWL/G1-15),
(LHR/G1-15), (BWP/G1-16), (GRW/G1-16),
(RWP/G1-16), (RWP/G1-16) (BWP-19) (D.G.K-19)
In business, computer is very useful for the marketing
of products of an organization. Many markeling
applications are available that can be used to provide
information about the products to the customers.
Computer is also used for maintaining the record of
products.
How computers can be used in Banks?
(MTN/GI-18)
Computers are widely used in banks. They are used in
banks for record keeping and maintaining accounts of
customers. The cheques of customers are processed
through computer.
Write two benefits of computer aided lea;
(BWPIGI-]SJ. ((‘IlWI(‘l-lﬂ) (LH

learning processes. A teacher prep:
dehvets Ierture 1o the ﬂudenl (hmugh \

fDr this purpose. It reduces
preparing leaching materials.
How computer can be
stores? (FSD/GI-18), (
The role of compufe
departmental stores. A
operations. For ex;

portant  in

VL/G1-18), (D.G.K/G1-15),

ee
training.

10.

used in research laboratoges,
patients etc.

Patient Monitoring

ICU (Intensive care

computer in which the computer provides
y of the stimulus, the learner must respond,
computer analyses the response and provides
ck 1o the learner. Benefits of computer based

. Students can easily acquire new skills at their
home. Their study time does not conflict with
their work schedule.

. Training time can be reduced.

. Students can learn very easily.

. ‘Their course material is easily available.

Students can acquire essential skills whenever and
wherever they need.

‘What is online education?
(GRW/G1-16), (GRW/G1-15), (GRW/G1-16),
(MTN/G1-16), (RWP/GI-18), (SGD/G1-17),
(BWP/G1-17) (RWP-19)

. The process of getting education through computer

network is called online education. There are many
websites that provide a lot of information about
various topics. Online leciures are also available on
dilferent topics on the Internet.

11.  List any two applications of computer in education
(BWP/G1-15) (LHR-19)
(GRW/G1-17), (SGD/GI-18)
E-ci Is for electronic commerce. It is also . . ) K
know trade or e-business, E-commerce is a | Ans. Classification of pupils, Preparing time-table,
financ busi i ducted :Mai e of cards, Tutorial and

lly between business partners aver
computer hetwork. The users can buy, sell, and
exchange products or services via computer network.
Usually the payments are made using credit cards.

dialogue, Immediate feedback, Problem-solving and
creativity, Laboratory and practical work, Training
through SIII]]Ulﬂ[E techniques, Education to
hand iR Guid

ped,
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12.  Describe electronic banking. (GRW/G1-17), 17. 'What is the use of computer in stock exchange?

(AJK/G1-16), (MTN/G1-17), (SGD-19) (SWL-19) (BWP- (BWP/G1-15)
19) (MTN-19)(GRW/G1-16), (FSD/GI-18) (AJK-19) | Ans. Stock exchanges are the important places for

Ans. A service that allows an account holder to obtain
account information and manage certain  banking
transactions through computer network is called electronic
banking or e-banking. An electronic banking is also known
as online banking or cyber-banking.
13.  Briefly describe about Weather Forecasting.
(MTN/G1-17), (D.G.K/G1-15), (FSD/G1-16),
(FSD/G1-15), (GRW/G1-15), (RWP/GI-18),
(MTN/GI-18) (RWP-19) (D.G.K-19) (GRW-19)
for g is the 1i of science and
technolegy to predict the conditions of the
atmosphere for a given location and time. Human
beings have attempted to predict the weather
informally for millennia and formally since the 19th
century.
14. Define Robots and how robots are used in the
industry? (D.G.K/G1-15), (FSD/G1-16),
(RWP/G1-16), (GRW/G1-16), (RWP/G1-16),
(RWP/G1-16), (RWP/GI-18), (MTN/G1-17),
(SWL/G1-17), (SWL/GI-

Robots can also be used in hundreds of appli
such as:

Ans.

. Assembling & spray-painting of cars.

. Lifting of heavy equipments, poyer cables etc.

. Testing blood samples.

Performing different activities i
and radioactive environments et

15.  Define reprographics.

Ans. It used to produce
record Reprographics
graphics through ¢

Photography and

apest examples of

use of reprographic

16.  Whati

71-15),(GRW/G1-15), (SWL/G1-16)
0 HR/G1-17), (GRW/GI-18) (FSD-19)

Ans. iler simulation is a special type of computer

program. It is vsed to represent the real
world systém. In other words, computer simulation is
an artificial system, which represents the working of

an actual system,

ound the world
stock markets

businessmen. Taday, stock marl
are mostly computerized.

trading electronically.
18. How computer can be u:

I W%ILI[R!GI-IE),
-17) (8GD-19)
s are used 1o control
hicles. The modern
nding signals to different
the aircraft. The pilot
1§ lhe aircmﬂ thruugh a

JG1- lﬁ).(B\vVPIGl 17),(GRW/GI-18)

g is a term coined after the

17), (RWP/G1-15), (GRW/G1-15), (SWL/GI-18),
(BWP/G1-17), (LHR/G1-15)(SGD/GI-18)

. A system that enables engineers and architects to

design madels of the products, new car, aircraft,

bridge, building and many other things is called

Computer-Aided Design (CAD). It is a combination

of hardware and software AND A system that is used

to control the machine tools and related machinery in

the manufacturing process of the product is called

Computer-sided Manufacturing (CAM). It is a

combination of hardware and software.

21.  Write two uses of computers at home. (GRW-19)

Ans. Computer can be used at homein the following

ways:

» Home Budget. Computer can be used to manage

the home budget. ...

Computer Games. An important use of computer at

home is playing games. ...

Entertainment. ...

Information. ...

E-Mail. ...

Chatting / Instant Messaging. ...

Searching For Jobs. ...

Online Shopping.

SECTION 111
LONG QUESTIONS

No long questions in this Chapter by Punjab
Text Book Board.

% x 2 3t
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Chapter

5

Computer Architecture

| SECTIONI |

Multiple Choice Questions

From PTB Exercise:

1. Data and program not being used by computer are

stored in:
{a) Secondary Sterage (b) Cache
(d) Printer

2. A set of instructions that run the computer are:

(c) Primary Storage

(a) Hardware
{c) CPUs

(b) Document
(d) Software

3. The program that contains instruction to eper:
device is called:
{a) Device driver (b) Device operator

(c) Device linking (d) Device System

4. CPUis an example of:
(a) Software (b) A program
{c) Hardware (d) An gutput uni

5. The address of instruction
execution is contained within;

(a) Program Counter

(b) Current Instruction ref

{a) Speed
(c) Accurpfy
The arithmetic/lagic

(c) PerformYogical comparisons such as equal, greater
than less than

{d) BothBand C.

8.

. Which one is faster?

‘Which is storage device?
(a) CPU

(c) Floppy disk

‘Which isr
contents of two pieces of data?,
(a) ALU
(c) Memory

(b) Clock
(d) Bus

(a) RAM
(c) Register

From Punjab (B
1. Type of language translatofare: (D.G.K/G1-16),
AFSD/GI-18), (GRW/GI-18)
(c) 4 5
(D.G.K/G1-16),
(RWP/G1-16), (GRW/GI-18)
(b) RAM

A) Data bus

(d) Floppy disk

/the following is not a type of bus in
(SWL/G1-15), (SWL/GI-18) (SWL-19)

(b) Address bus

(d) Control bus

M usually has types. (SWL/GI-18)

(a) 2 (b) 3 (c) 4 @ 5

The output of the compiler is called: (GRW/G1-16),
(GRW/G1-16), (BWP/G1-15), (FSD/G1-18)

{a) The program

(c) Linked code

(c) Timer bus

(b) Source code
{d) Object code

‘Which is a type of RAM? RWP-GI-18)
(a) SRAM (b) CRAM
{c) ERAM (d) FRAM

‘Which one is the fastest memory?

(LHR/G1-16), (RWP-GI-18) (FSD-19) (GRW-19)
(a) RAM (b) ROM
{c) Register (d) Cache

‘The register holds the address of the next instruction
1o be fetched for execution:
(LHR/GI-18),(D.G.K/G1-17) (LHR/G1-16)(BWP-19)
(a) Programcounter (b) Instruction register
(c) Counter register (d) Base register

The idea of storing a program in memory was given

by: (D.G.K/G1-17) (SWL-19)
(a) John Van (b) Bill gates
(c) Dr. Abdul Salam (d) None
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10. Memory management is function of: (D.G.K/G1-17) 23. Which memory is used to speed up the computer
(a) OS (b) CPU processing? (GRW/G1-15),
(c) HDD (d) Cashe (RWP/G1-16), (SWL/G1-17)
11. Modern computers can perform calculations or (2) ROM (b) Ca
processes at: (BWP/G1-15), (SGD/G1-17) (c) BIOS (d)
(a) Per nano second (b) Per micro second 24. Expansion cards are inserted i S 1-17)
{c) Persecond (d) Per minute (a) slots
12. All are General purpose Registers Except: (c) CPU
(SGD/G1-17) 25. The size of segment ri
(a) EBX (b) ECx (@ I-byte
(c) EDx ) EEx (©) 4-bytes "
13. Which Bus allows the processor to communicate \ N
with peripheral device: 26. iy datais called:
(SGDIG1-17) (GRW/G1-17)
(a) System Bus (b) Expansion Bus (a) com
(c) DataBus (d) Control Bus
14. Which is also called secondary storage: (c) «
(FSD/GI1-17) e clogk
(a) RAM (b) ROM ory location is to be read, CPU places address
{c) HARd DISK (d) Primary storage (SWL/G1-16)
15. CPU includes, except: (FSD/GI1-17)(LHR-19) (b) MBR
(a) Primary memory (b) ALU C (d) Accumulator
(c) Control unit (d) Register 28 e step that performs the actions given in the
16. CPU is also called: (LHR/G, instructions is called: (SWL/G1-16)
(@) ALU (b) CU fetch (b) calculate
{c) Processor (d) Bus (c) decode (d) execute
17, Extra segment register deals with; . Data can be erased using ultraviolet rays written on;
{a) Stacks data (b) I/O units (a) RAM (b) EROM
@ M icaldata  (d) vari (¢) EPROM (d) EEPROM
18. The component of Computer, e | 30. The term that refers to all input, output and
instruction is called: secondary storage devices is called: (RWP/G1-16)
(a) CPU (a) Central unit (b) Network point
(c) RAM {c) Peripheral (d) internal memory
19. A program syntax erro| 31. Another name for main memory is; (AJK/GI-16)
(a) Secondary memory (b) Permanent memory
(a) Compiler .
(c) Tape storage (d) Primary memory
(€) Londee 32. RAM holds the datafinstructions:  (RWP/G1-16)
. mk (a) Temporary (b) Permanent
(c) Accuniitlator ) Math-Co-Processor (c) HDD (d) None of these
21. Which of the foll a1 temporary memory? 33. Which one is a signal? (FSD/G1-16)
(RWP/G1-17) (a) % (b) DMA
(@) (b) PROM
(©) RA (d) EPROM (c) Interrupt (d) Memory
22. List of d nts waiting ta be printed on printer is 34. How many bits and carried by one line of data bus?
called: (RWP/G1-17) (a) 1 (b) 2 () 3 @ 4
(a) Print list (b) Print Stack 35. How many units ALU has? (GRW/G1-16)
(c) Print Queue (d) Print line (@) 2 ®) 4 © 8 @ 16
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36.

an

38.

39.

40.

41.

42.

43.

44,

46.

47,

48.

. Which of the foll

Which one is NOT a type of ROM? (GRW/G1-16)
(a) PROM (b) EPROM
(c) FPROM (d) EEPROM
A bus with 64 lines can carry data of:

(GRW/G1-15), (GRW/G1-16)
(a) 16 bits (b) 32 bits
(c) 48 bits (d) 64 bits
Temporary storage nrea within CPU is called:

(GRW/G1-16) (SGD-19)
(a) registers (b) ROM
(c) RAM (d) hard disk
‘Which component is used to connect different parts
of the computer together: (BWP/G1-15)
(a) Busintercormection  (b) Control unit
{c) Main memory (d) None
Data and programs not being used by the computer
is stored in : (BWP/G1-15)
(a) Secondary storage (b) Cache
(c) Primary storage (d) Printer
The address of instruction under the process of
execution is contained in : (BWP/G1-15)
(a) Program counter
(b) Current instruction register
{c) Memory address register
(d) Memory buffer register
An important characteristic of RAM is :
(BWP/G:

(a) Read only (b) Write only
(c) Not volatile (d) Volatile
CPU provides enabling signal through:

{(a) Control bus () D
(c) Address bus [G)]
Which of the following
register?
{a) Ax

(c) Dx

component of

CpU? (RWP/G1-15)
(a) Primary ister

(c) Control

Memory is /G1-15),(SWL/G1-15)
(a) Set of wires ) Set of circuits

{c) Cells (d) BIOS

Exal (LHR/G1-15)
@ 5. b) 6.4

(c) 345 (d) All of these

Who propgsed a design of stored program
computer: (GRW/G1-16), (LHR/G1-15)

{a) VAN Neumann
(c) Babbage

(b) Blaise Pascal
(d) Sir Rutherford

49. Which register contains the base location of the

current program stack: WLHR/G1-15)
(a) ES (b) DS
{c) S8 (d) CS

50. Registers that collect the resul
called.
(a) Instruction pointer (
{c) Storage registers {
51. Which of the following me:

(a) ROM

(¢) PROM )

52. i 0] CRU is responsible for
i i h'p (GRW/G1-15)

(d) Register

53. ing memory needs to refresh?
(SWL/G1-15)
(@pDRAM] (b) SRAM
ROM: (d) PROM
4. @ ocation is to be read, CPU places address
0 (SWL/G1-15)
1R (b) PC
) MAR (d) MCR

5. The brain of computer that executes a set of

ructions is called. (SWL/G1-15) (RWP-19)
(a) Bus (b) CPU
(c) Monitor (d) Register

56. Which media can be used for hackup?
(D.G.K/G1-16)

(a) RAM (b) ROM

{c) CPU (d) Hard disk

‘Which one of the following handles the processor

communication with its peripheral? (AJK-19)

{a) ALU (b) CU

(c) VO unit (d) Bus Interconnection

58. All of the following are functions of operating system
except: (AJK-19)

5%

(@) Read data from input device
(b)  Shaw result on the output devices
{(c) Memory Management
{d) Conversion of source code into abject code
59. Which SIM card and ATM card are examples of:
(LHR-.19)
(a) ROM (b) Cache memory
(c) BIOS (d) Hard disk
60. Mobile SIM card and ATM card are example of:
(LHR-19)
(a) Video card (b) OMR card
(c) Smart card (d) Strip card
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61. CU stand for: (MTN-19)
{a) Controlunit (b) Cache unit

(c) Calculating unit(d) Com unit

62, ALU has units: (MTN-19)
@ 1 (b)2
() 3 (d)4

63. Which of the following memory needs 1o be relreshed
periodically? (GRW-19)

{a) DRAM (b) SRAM
{c) FRAM (d) ROM
64. The order of stack is: (GRW-19)
{a) FIFO () LIFO
{c) GIGO (d) FIGO

65. The hardware components that permanently hold data
and program is called: (GRW-19)
(a) Primary storage (b) Secondary storage
(c) Temporary storage  (d) CPU

TION II
SHORT QUESTIONS ANSWERS

From PTB Exercise:

1. What is CPU ? Describe briefly.

Ans. The computer does its primary work in a part of the
machine we cannol see, a control center that converts
data input to information output. This control cener,
called the central processing unit (CPU), is a ly
complex, extensive sel of electronic circui that
execules stored program instructions.

2, Explain the architecture of computer system.

Ans. The main components in a typical computer systes
are the processor, memory, input/outpitdevices, and
the communication channels that con

Vay; from the CPU to memory. The
ines on the bus determines the number of
memory elements.

bus is a computer bus that is used by the
CPU to communicate with devices that are contained
within the computer, This accurs through physical
connections such as cables or printed circuits.

Serial and Parallel Parts:

CUand ALL:

The main difference between a serial port and a
parallel port is that a serial port transmits data one
bit after another, while a paralleLpart transmits all 8
bits of a byte in parallel. .., ulem hu\re both
serial and parallel po 1
technology called a USB (Univg

linker and loader is that
sfile of a program
execulub]e file obtained

from the linker, emory for execution. ...

ALU a
and arithmetic
processor,

logic unit, another
performs  arithmetic,

of the processor that directs and
<1 of the upemliuns in the computer.

Interpreter

Compiler

translates as a whole It translates line by line

It is fast 2. Itisslow
Tt shows an emor | 3. Tt stops and displays an
messoge, if there is an error message il there is

error and doesn’t translate an error

s

How to transfer data from CPU to memory
explains in step ?

. Steps:

1. CPU places a request through control unit.
2. It puts the address on address bus.

3. It puts the data on data bus.

CU transfers the data to memory.

Define the different types of RAM .

. Different Types of RAM (Random Access Memory )

RAM(Random Access Memory) is a part of
computer's Main Memory which is directly accessible
by CPU. ... Integrated RAM chips are available in two
form: SRAM(Static RAM) DRAM(Dynamic RAM)
SRAM:

Stands for static random access memory. Cells are
made from digital gates and doesn’t require
refreshing.

DRAM:

Stands for dynamic random nccess memory.
constantly refreshes to keep its state.
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7. Define the general-purpose registers. 3. What do you mean by IO read and 1/Q. Write
Ans. General-purpose registers (GPRs) can store both data command? (RWP/GI-16),

and addresses, ie., they are combined data/address
registers and rarely the register file is unified to
include foating point as well. Status registers hold
truth values often used to determine whether some
instruction should or should not be executed.

a. Describe the Bus and its types.

‘The internal bus carries data within the motherboard.
External buses carry data to peripherals and other
devices attached to the motherboard. The lines or pins

(D.G.K/G1-16), (GRW/G1-16)

. For instance, a keyboard or compu
input device for a computer
printers are output devices. I
the combination of the Cl
which the CPU can refit
individual instructions,

er mouse is an

brain of a
1 igned lo read
the memory unil upon

of a bus are of three types: Address - the
pass memory addresses to one another over the
address bus data for passing data and control for
passing contral info.
b. Define the machine Instructions.
Machine code or chine is a set of
instructions executed directly by a computer's central
processing unit (CPU). Each instruction performs a
very specific task, such as a load, a jump, or an ALU
operation on a unit of data in a CPU register or
memory.
€ Differentiate between Fetch instruction and
Decode instruction.
Four steps of Machine cycle

e considered to be the

pect to I/O unit and List
(AJK/G1-16),
(BWP/G1-15), (FSD/G1-15),
(RWP/G1-15), (LHR/G1-15),
) (SWL/G1-16), (RWP/G1-16)
ess (DMA) is a method that allows
'0) device to send or receive data
from the main memory, bypassing the
eed up memory operations. The process is
by a chip known as a DMA controller

. Feich - Retrieve an instruction from the memory.
. Decode - Translate the retrieved instruction ~/
into a series of computer commands. tages:

. Execute - Execute the computer commal
. Store - Send and write the results
memory.

d. Differentiate between ROM and RAM.
‘There is one major difference between a read-o
memory (ROM) and a random-access 1
chip: ROM can hold data without powe
cannot. Essentially, ROM is meant for}
storage, and RAM is for tempor: g

Define port.

>1-16), (MTN/G1-16),
/G1-16), (GRW/G1-16),
.G.K/G1-16), (FSD/G1-16)
nnection for transmitting data
ial ports are often referred 1o as

DMA saves lots of CPU time so that CPU can

have more time to execute CPU-bound tasks.

2. Writing data to 10 device is similar to reading,
and DMA can reduce the CPU waiting time of
both IO operations.

3. Devices that can use DMA are designed for low
power consumption, making them perfect for
laptops.

4. DMA-capable hard drives have much higher seek
times than those drives that don’t support DMA.

5. A device that supports DMA supports faster
CPUs than those devices withoul DMA support.

6. A DMA-capable device can communicate
directly with memory, bypassing the CPU.

5. What is the purpose of CPU (Central Processing
Unit) registers? (BWP/G1-16), (D.G.K/G1-15),

(MTN/G1-17), (FSD/GI1-17)
Ans. A processor register (CPU register) is one of a
small set of data holding places that are part of the
computer processor. A register may held an
instruction, a storage address, or any kind of data
(such as a bit sequence or individual characters).
Some instructions specify registers as part of the

(COM) ports. The mouse, keyboard s ! )
and are u:ually connected to the serial ports. instruction. There are various types of Registers
A parallehport provides a connection for transmitting those are used for various purpose. Some Mostly used
data 8 bits@t a time. Therefore, it is eight times, faster are A AC), Data R (DR),

port. The printers and scanners are
connected to the parallel ports. Parallel ports are often
referred to as Line Printer Ports (LPT).

Address  Register(AR), Program Counter(PC),
Memory Data Register (MDR), Index Register(IR),
Memory Buffer Register(MBR).
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6. List name of four different address registers.

(FSD/G1-16)
Ans. Portion of computer memory that keeps track of the
location in memory. Below is a listing of different
address registers. MAR is short for Memory Address
Register and is a parallel load register that contains
the next memory address to be manipulated. For
example, the next address to be read or written. There
are various Iypes of Registers those arc used for
various purpose. Some Mostly used Registers are
Accumulator(AC), Data Register(DR), Address
Register(AR), Program Counter(PC), Memory Data
Register (MDR), Index Register(IR), Memory Buffer
Register(MBR). Registers are used for performing the
various operations.
7. What is the use of Memory Address Register?
(RWP/G1-16), (LHR/GI-18), (SWL/GI-18)
MAR stand for Memory Address Register. This
register holds the memory addresses of data and
instructions. This register is used 1o access data and
instructions from memory during (he execution phase
of an instruction. Suppose CPU wants to store some
data in the memory or to read the data from the
memory. It places the address of the required memory
location in the MAR.
8. Define system bus and List different types of
system huses. (RWP/G1-16), (FSD/GL-16),
(FSD/G1-15)(RWP/G1-15),(BWP/G1-15)(M
‘The bus used to connect the main comps
computer is called system bus. General pu
computers have a 70-100 line system. The system
is divided into three main categories,

Ans.

Ans.

1. Data Bus
2. Address Bus
3. Control Bus

9. Write the use of expansion hus.

is a communication channel.
ponents of computer to

data and address buses. Since dutn and
s are shared by all system components,
,be a means of controlling their use. For
example if CPU wants to read data from main
memory it will use the contral bus to send memory
read command to the main memary.,

12.  Write the use of Memory Buffer Register.

(RWP/GI-18)m (BWP/G1-15)

Ans. MBR stand for Memary Buffer Reg:ster This register
holds the contents of data or insi n reud from, or
wrillen in memory. It means

to store dato/instruction comi|

going to the memory.

13. How does instruction pol ?
(MTN/GI-18)
Ans. The instruction poir gram counter,
is a special register in a SSOr. Il halds the address
ol the next ecuted. Control flow
instructions conditional branches, and
subroutine calls instruction pointer.
14. i egisters.
8 WP/G1-17), (GRW/GI-18)
(MTN-19) (FSD-19) {LHR-19)
Ans. registers are  used to store
ithin the microprocessor. These

ong with other registers to perform

logical operations. These registers are

computer. These registers are called EAX,

X and EDX. Each register of this type is

o higher and lower byte called AH, AL, BH,
H, CL, DH, DL respectively. In the name of

, above registers.

1. AX (Accumulator Register): It is used for
arithmetic and other data operations.

2 BX (Base Register): It is used to store memory
addresses of data stored in main memory during
arithmetic and data movement operations.

3, CX (Counter Register): It is used for counting
purpose, It acts as counter for looping.

4. DX (Data Register): It is used to hold data
during division and multiplication operations.

What is stack register?(FSD/GI-18),(SWL/G1-15),
(LHR/G1-16), (GRW/G1-17), (RWF/G1-17),
(LHR/G1-17), (GRW/G1-16), (MTN/G1-16)

A stack register is a computer central processor register

whose purpose is to keep track of a call stack. On an

accumulator-based architecture machine, this may be a

dedicated register such as SP on an Intel x86 machine.

State the purpose of Data Segment Register and

list the name. (SGD/G1-17), (LHR/G1-17),
(ATK/G1-16), (RWP/G1-15), (SWL/G1-16)

Segment Register holds the upper 16 bits of the

starting address of each of the segments. There are

four segments used in 8086, code segment, data
segment, stack segment and extra segment.

Segment registers are used to contain the base

addresses of the abave mentioned segments. They are

16 bit registers.Four special-purpose registers, SP,

BP, S1, and DI. Four segment registers, CS, DS, ES,

and SS. The instruction pointer, IP (sometimes

referred to as the program counter).

i

15.

Ans,

16.

Ans.
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17.  What is accumulator register? (SGD/G1-17) 23.  What is Computer Architecture?

Ans. An accumulater is a register for short-term, (BWPI/G1-16)(FSD/GI-18)(LHR-19)(AJK-19) (FSD-19)
intermedi?le storage of arithmetic fmd logi: daaina | Aps The way in which varions components of the
computer’s CPU (central processing unit). .. In a computer system are connectedewith one nnulher is
modern computers, any register can function as an called computer architecturéThe
accumulator. The most elementary use for an &
accumulatoer is adding a sequence of numbers

18. What is FLAGS register? (LHR/G1-15)

Ans. The FLAGS register is the status register in Intel x86 | 4
microprocessars that contains the current state of the )

Its the EFLAGS and
RFLAGS reglslem are 32 bits and 64 bits wide,
respectively. The wider registers retain compatibility ), (D.G.K/G1-16),
with the.:u smaller prf:decessms.lem flag - Carry flag G1-17), (SWL/GL-17),
- Negative flag - Parity flag
19. Define Arithmetic Unit and Logic unt of CPU. (s FKIG1-15), (SWL/G1-16)
(SGD/GI-18), (SWL/G1-15), (GRW/G1-16), | Ans. Primary J'is plm:lud on the motherboard
(FSDIG1-16), (FSDIGI1-17), (MTN/G1-17), o the CPU via the Mesciey Bus .
(GRW/GL-17) (AJK-19) Sp he is closer to the CPU, it is .much
. . R B N & Each read access on the primary

Ans. An arithmetic-logic unit (ALU) is the pf'xrl of a avel via the Memory Bus while the
computer processor (CPU) thal camries oul
arithmetic and logic operations on the operands in
computer instruction words. ... Some processors memory (RAM) is external and is situation
contain more than one AU - for example, one for the processor, usually as DIMM slots on
fixed-point operations and ancther for floating-point erboard. It stores applications assets and
operations. hich are heing executed.

20.  Write the purpose of CPU. (MTN/G1- Processor cache is located inside the processor core

(FSD/G1-15), (MTN/GI+18), itself (L1 and L2). L3 cache is a last level cache
(MTN/G1-16), (FSD/ located on l_he pracessor die but outside of the core.
Ans. (C.P.U): Th £ the Central P L4 cache is found on the processor package as
. (CP.U): The purpase of the Centr m““ng n separate die. Caches stores both instructions and data
::(i,l‘é_l)_ |sdlo_ cnr;y out program ms E - nl:r and generally act as ‘buffers’ between RAM and
. 15 designe _ln uxc?um o sp oup o processor/iGPU due to the difference in speed of said
instructions, the instruction set.Pro
. compaonents.
central processing unit, or CPU. is often o
as the computer's brain. its maj 25.  What is motherboard? (FSD/G1-16),

21, Write down the size of (FSD/G1-15), (LHR/G1-15)
hytes,. . Ans. Motherboard is a circuit board inside the system unit.

Ans. ka is the primary 2 It is the main board in the system unit. All devices of
input/output and most computer are connected to it. It is also known as
example, in multipli system baard.
stored in EAX or 26.  Distinzuish betw de and obj d
size of the oper he base register. . istinguish between source code and object code.
as it could be u: essing. (FSD/G1-16), (SWL/GI-18), (D.G.K/G1-15),
For exampl the 16-bit number (BWP/G1-15), (BWP/G1-17), (MTN/G1-17)
1234, thy -~ DX.is the "data’ Ans, The program instructions written by user followin,
register; lugelh r with AX for the word-size ) ¢ program Instructions en by use wing

the rules of any high-level language are known as
MUL ... ion index, used as a painter .
. - program source code. The translated program into
to the current cl being written or ... can only : = .
b machine code is known as ohject code,
copl mory within a range of 64K
= 27. Describe computer program. (FSD/G1-16)
22. Wha r Ans. A computer program is a collection of instructions
(GRW/G1-16), (GRWI/G1-17) that performs a specific task when executed by a
Ans. Once an igtruction is fetched from main memory, it computer. A computer requires programs o

is stored in the Instruction Register. The control unit
takes instruction from this register, decodes and
execules it.

function. A computer program is usually written by
a computer programmer in a programming
language.
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28. Why does machine language program execute | 36. Whatis ROM?
faster? (GRW/GI-18), (BWP/G1-17) (SWL-19) (BWPIG1-15),(RWP/G1-15) (AJK-19)

Ans. Eicnuse must be close u:“la!:;il:lfdware and no nged ROM stands for Read Only Memory. It is type of
: internal memory. The data and ip
is fanest

stored by the manufacture;
29. What is stored program computer? manufacturing. This data
(D.G.K/G1-15), (LHR/G1-16), (GRW/GI-15) changed or deleted afterw:

Ans. The stored program concept means that data and stored in ROM can onl
instructions are both logically the same and can both instructions cannot be wri
be stored in memory. The von Neumann architecture why itis called Read Qal,
is built around this principle. It is important because | 37,  Define operating syste
the human does not have to execute instruction from A . — M of
without the machine. ns. An operating of system programs

. that controls he overall operations of a

30. Describe Assembly language. (RWP/G1-16) computer sys needs an operating system

Ans. A bly I is low-level Itis easy to 10 do work. g system, a computer is like
learn than machine language. In this language, it
symbols (or English like words) are used to write een compiler and interpreter.
program instructions, instead of binary code. These ¥ P ™ )
symbols or English like words are called mnemonies. y (GRW/G1-15)(FSD/G1-15),
For the add is by 1-15), (GRW/G1-16), (FSD/G1-16)
ADD. (SWL-19) (GRW-19)

31. Which task is performed by language processor?

(GRW/G1-15), (RWP/G1-16) Interpreter

Ans. A type of system software that is used to translate the sotirce It wanslator the source
3. Jritten. in h ‘:I ol il (or assermp) code into objeet code code into machine code
language) into machine code is called lan, I

. as a whole. statement by statement.
translator. The language translator is also kng
language processor. Every language has It creates an object It does not create an
language translator program. file. object file,

32.  Give two parts of instruction format.

Program execution is Program execution is
very fast. low,

Ans. The instruction of two-address for VER¥ ks
udd:ress fields. Each address field ca spec Translator program is Translation program is
fegister or a memory “fjdf“i not required o required to translate the
format. Examples of this ins translate the program program each time you
CMP and BIS. each time you want to want 1o run  the

33. What is zero-address in run the program. program.

s 5. It is not easier (o It is easier ta correct

Ars. In zem-:':d(lress s correct the errors in the errors in source
ahsent in the the source code. cade.
computer does

6. Maost of the high level A few  high-level
programming programming
languages have languages have
compiler program. interpreter program.

3.

(&) 39.  What is the concept of memory address?

Ans. er is used to manage the stacks in (GRW/G1-15), (LHR/G1-15)
me: r example, undo and redo operations in § !
differenfapplication software are managed by stack. (GRW/G1-16), (MTN/GI-18)

35. Define assémbler. (D.G.K/G1-15),(BWP/G1-15) Ans. The memory consists of large number of memory

Ans. The | 1 that 1 the cells. Each cell in the memory has a unique number

Bl | hi

written in into

code is called assembler.

address.

to it. This number is called the memory
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40.

Ans.

41.

42,

Ans.

43.

Ans,

What is RAM and Why is RAM called volatile
memory? (D.G.K/G1-15)}, (SWL/G1 15),
(GRW/G1-15), (SWL/G1-17), (SGD/GI-18),
(LHR/GI-18), (ATK/G1-16)(RWP-19)
RAM stands for Random Access Memory. Another
term used for main memory is RAM. It is called
random access memory because data from RAM can
be accessed directly. RAM is also known as primary
storage. It is used to store data and instructions of a
program while it is being executed RAM is called
vaolatile memory because data and programs stored in
RAM are lost when the power is turned off. So RAM
is used to store data and instructions temporarily.
Why RAM is used in computer? (LHR/G1-16)
‘The mare RAMyour CPU has access lo, the easier iis
job becomes, which enables a faster computer. If you
do not have a sufficient amount of RAM than your
CPU has to work much, much harder to transfer data,
which severally damages the computer’s performance.
Random access memory also helps your system
support software.
How data is transferred from peripheral device to
computer?(FSD/GI-18)
‘The more RAMyour CPU has access o, the easier its
Jjob becomes, which enables a faster computer. If you
do not have a sufficient amount of RAM than y;
CPU has to work much, much harder to transfe
which severally damages the computer's perfoj
Random access memory also helps your'
support software.

Write two activities performed by control unit?
(LHR/G1-15), (SWL/G1-16)
(FSD/G1-15), (GRW/GI-18),

(RWP-19) (GRW/G]

‘The control unit (CU) is :u:o pones

central processing unit

Speed Low Level language programs are faster than
High Level language programs as they do not need 1o
convert.

EasinessLow Level language

easy as High Level language. Ti
Level programming language,

difficult type symbolg
mnemonics.But, the Hig

anguages programs

High Level languages

codes are Machine codes
[ them without any
h]y needs an Assembler to translate
program  lo  ils  equivalenl
ICode.High Level Languages are
“compilers or interpreters; sometimes
eprogramming languages) both are
0 gel the Object/Binary file.
High Level languages are flexible to
, debug, understand etc but Low Level
ges are not so easy to handle.High Level

and

’nnguages have huge libraries with a rich set of Data
t

ypes, keywords, functions etc so these languages are
really goad to develop an application with many great
features using less effort and resource.

Support Low Level languages have less support
than High Level Languages. There may be lesser
number of professionals (community) in support of
Low Level languages as comparisons to High Level
Language support.

Examples Two good examples of low-level
are and ine code

C/C++ and Java are popular examples of high-level

operation of the proce
memory, arithmetic/log

[Yand high level
(LHR/G1-15),

ages such as Binary (Machine
ssembly language,

1 Languages are the machine independent
fig languages, which are easy to write, read,
edit rmd understand The languages like Java, Net,
Pascal, COBOL, C++, C, C# and other (which are very
popular now to develop user end applications).

Ans.

45.

‘What is Instruction set? (RWP/GI-18) (GRW-19)
An instruction set is a group of commands for a CPU
in machine language. Instruction set is stored in the
control unit .control unit is a hardware logic circuit
which indeed is a silicon chip (semiconductor device),
designed in such a way that it responds to certain
inputs (memory instructions) to produce meaningful
contral signals for the other CPU components
‘What is the role of main memory in computer
system? (MTN/GI-18), (FSD/G1-16)
(MTN/G1-17), (FSD/G1-15),
(LHR/G1-15) (LHR-19)
Primary storage, also known as main storage or
memory, is the area in a computer in which data is
stored for quick access by the computer's processor,
The terms random access memory (RAM) and
memory are often as synonyms for primary or main
storage.
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46.  Why ALU is necessary for a computer system?

(LHR/GI-18)

An arithmetic logic unit (ALU) is a major component

of the central processing unit of a computer system. It

does all processes related to arithmetic and logic
operations that need to be done on instruction wards.

In some microprocessor architectures, the ALU is

divided into the arithmetic unit (AU) and the logic

unit (LU).

. Logical Operations: These include AND, OR,
NOT, XOR, NOR, NAND, elc.

. Bit-Shifting Operations: This pertains 1o
shilting the positions of the bils by a certain
number of places to the right or left, which is

i a multiplicati i

Ans.

p
. Arithmetic  Operations: This refers to  bit
addition and subtraction. Although
multiplication and division are sometimes
used, these operations are more expensive 10
make. Addition can be used 1o substitute for
multiplication and subtraction for division.
Simply:An arithmetic lagic unit is also known as an
integer unit (IU).The main functions of the ALU are
to do arithmetic and logic aperations, including bit
shifting operations. These are essential processes that
need to be done on almost any data that is being
processed by the CPU.
47.  State the purpose of execute instruction.
It is the process by which a computer rel
program instruction from its memory, deten
what actions the instruction describe

(CPU), from boot-up until the computep
down.
Define three-address instructiol

(LHR/GI-18), (GRW/ 1-16);

48,

s code (often
intermediate code
o aid in the

(D.G.K/G1-15),
), (SWL/G1-15), (LHR/G1-17),
17), (RWP/GI-18), (BWP/G1-16)

50.  Describe print queue. (BWP/G1-15), (SWL/G1-15)
(GRW/G1-15), (GRW/G1-17),(RWP/G1-17), (LHR/G1-17).

Ans. A print queue is a list of printer output jobs held in a
reserved memory area. It mainifims
status of all active and pending

51.  Describe the function of ja
Ans

g system such as a
jance. Examples of input
puse, scanners, digital
devices relay the

E compuler user.,

tion of an input device is to

ystem like a computer. There are several
Dkinds ofinputdevices used in a computer. ...
Keyboard, Touch-pad,
e, camera etc. Output Devices: LCD,

Fl inter, Speaker and so on.

SZ,Whal is the purpose of execule instruction?
(SWL/GI-18)

. A program is made up of a set of instructions. When
the program is executed, the instructions are loaded
into the main memory. The instructions are feiched
to the CPU based on the Program Counter (PC). ...
Execution of an instruction refers to the events from
instruction fetch to instruction commit. Executing
Instructions. The word "execute" is often used to
mean “perform the machine operation that an
instruction asks for." So you can say that "execute
the instruction 00000000 to stop the processor,” or
"billions of instructions execute per second.”

53.  Define aperand code. (GRW/G1-17),(RWP/G1-17)

Ans. In Pr i an is a term
used to describe any object that is capable of being
manipulated. For example, in "1 + 2" the "1" and "2"
are the operands and the plus symbol is the operator.

54. Write in detail ways to transfer data from
peripherals (Interrupts and DMA).(GRW/GI-18)

Peripherals connect to the processor hardware through
the motherboard. External devices will connect to the
matherboard via USB, FireWire or through a wireless

(LHR-19)
Ans. t is a signal from a device hed to a
from a within the that

requires the operating system to stop and figure out
what ta do next. ... The computer simply takes turns
managing the programs that the user starts.

such as Bluetooth.

Monitors normally cannect through HDMI or VGA
cables.
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55.

Ans.

56.

57.

Ans.

58.
Ans.

60.
Ans.

Differentiate between FROM and EPROM.

(SGD/G1-17), (FSD/G1-16),(FSD/G1-15)(SWL-19)
PROM stands for Programmable Read Only Memory.
This form of ROM is initially blank. The user ar
manufacturer can wrile data/program on it by using
special devices. However, once the program or data is
written in PROM chip, it cannot be changed. If there is
an error in writing instructions or data in PROM, the
error cannot be erased. PROM chip becomes unusable,
EPROM stands for Erasable Programmable Read
Only Memory. This form of ROM is also initially
blank. The user or manufacturer can write program or
data on it by using special devices. Unlike PROM, the
data written in EPROM chip can be erased by using
special devices and ultraviolet rays.

Why does SRAM use less power than DRAM?

(SWL/G1-15), (RWP/G1-15), (SGD/G1-17),
(SGD/GI-18)
SRAM stands for Static Random Access Memory. It
does not have to be refreshed with electric charge
again and again. It is faster than DRAM because CPU
does not have to wait to access data from SRAM. So
SRAM chips utilize less power. However, SRAM is
more expensive than the DRAM.
What is DRAM and why does DRAM use more
power? (RWP/G1-16), (BWP/G1-15),
(LHR/G1-15
DRAM stands for Dynamic Random Access M
This type of RAM is used in mast of the ¢
In order to maintain data in DRAM. it is

consume because, durmg refreqhmg
cannot write and read data to and fro
‘That is why it is slow.

How data is represented In Me:

.. The total memory is
bytes and each byte is aj
is the smallest unit in
places where the data
binary data

of CPU. (FSD-19)
ponents of a CPU include the

‘The contral unit (CU), which extracts instructions
from memory and decodes and executes them, calling
on the ALTU when necessary.

31| Page
61. Describe role of memory management. (MTN-19)
In operating systems, memory management is the
function responsible for managing the computer's
primary memory. The mel management
function keeps track of the g f each memory
location, either allocated or ks when
memory is freed or u nd updates the
status,
62. Describe the role of VO (GRW-19)
Ans. The main purpose of] 0 help in the
interaction  of with  the

63.

Ans. Pl
tlata (such as a bit sequence or
icters). Some instructions specify
arf’of the instruction. For example, an
may specify that the contents of two
isters be added together and then placed in
ed register.
iate between CX and DX register.
(GRW-19)

/ 3 Ar!BXAhuse register, typically used to hold the address

of a procedure or variable. CX— count register,
typically used for looping. DX - data register,
typically used for muliiplication and division.
All of the general purpose registers can be treated as
a 16 bit quantity or as two 8 bit quantities.

SECTION III

LONG QUESTIONS
1) What is T ar €? Exp different
of archi e.
(FSD/G1-16) (FSD/G1-15), (SWL/G1-15) (SGD-19)
(SWL-19)

2) ‘What is Computer? Discuss primary components
of computer system. (BWP/G1-17), (GRW/G1-17)

(RWP-GI-18) (MTN-19)
3) What is Random Access Memory (RAM)?
Describe its twa types.

(FSD/G1-15), (FSD/G1-16) (FSD-19)

4) Write in detail two ways to transfer data from
peripherals (Interrupts and DMA). (GRW/GI-18)

5)  What is ROM? Explain its different types in detail.
(MTN/G1-17), (SWL/G1-17), (LHR/GI-18)

6) Define language processor / translator. Explain
different types. (LHR/G1-15),

(D.G.K/G1-16),(LHR/G1-17),(GRW/G1-17),

(SWL/GI-18) (D.G.K-19) (BWP-19) (RWP-19)
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7 Define bus. Explain different types of buses in
detail.

(D.G.K/G1-15), (BWP/G1-15), (LHR/G1-16), (BWFP/G1-
16), (SWL/G1-16), (GRW/G1-16), (SGD/G1-17),
(BWP/G1-17), (RWP/G1-17)(SGD/GI-18), (MTN/GI-
18), (RWP-GI-18) (LHR-19) . (AJK-19) (MTN-19)

8) What are CPU registers? Briefly describe special
purpose registers. (RWFP/G1-16)

9 Explain the fetch-decode-execute cyce of CPU.
Also draw its diagram.

(RWP/G1-15),(GRW/G1-16)

10) What is operating system? Write six functions of
operating system.

(FSD/GI1-17), (FSD/GI-18), (AJK/G1-16)

11) Define Von Neuman design of stored program
computer with the help of diagram. Also write the
function of each component briefly. (RWP/G1-16)

12) What are ports? Describe different types of ports.

Rtk

Chapter

6

Security, Copy Right and
“The Law"”
SECTION I

imputer consultants
whao have no extraordinary

ware that can be freely distributed
without violating copyright laws are called:

(b) Public domain
(d) (a) and (b)

(a) Shareware
(c) Copy protected

4. Information is:
(a) A marketable commodity
(b) Canke siolen while leaving the original behind,
(c) Should be free, according to ( iginal hacker
ethic.

(d) All of above.
5. A virus that replicates itselfiis called a:

K/G1-16),
19) (BWP-19)
(a) Bug

{c) Vaccine

(b) Worm
(d) DES

(b) Locks and cables

(d) All of these

27 secret word or numbers fo be typed in on a
keyboard before any activity can take place are
ed: (SWL/GI1-15), (D.G.K/G1-16), (FSD/G1-16),
WP/G1-17), (RWP-GI-18) (RWP-19) (D.G.K-19)
(MTN-19)

(a) Biometric data (b) Data encryption

(c) Password (d) Private word

10. What is the most common computer crime of this
listed below?

(a) Extortion of bank funds
(b) IRS database sabotage
(c) Putting people on junk mailing lists.
(d) Software piracy
From Punjab Board:
1. Freely distributed software without violating copy-

right laws are called : (BWP/G1-15)
(a) Share ware (b) Publish domain
(c) Copy protected (d) None
2, Trojan Horse is a an: (RWP/G1-16),
(SWL-GI-18), (BWP-GI-15) (SGD-19)
(a) Antivirus (b) Virus

(c) Software (d) Hardware

3. A person who gains illegal access to a computer
system is called: (FSD/GI1-17),

(SWL/GI-18) (LHR-19)
(b) network controller
(d) computer consultant

(a) hacker
{c) computer operator
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4.

10.

11

12.

13.

14.

Making illegal copies of copyrighted software is
called: (FSD/GI-18), (FSD/G1-16),

(GRW/G1-17), (GRW/G1-16), (GRW/G1-16)
(a) Software hacking
{c) Software piracy

(b) Software browsing
(d) Software distribution
Which is not a biometric techmique for person

identification? (FSD/GI-18)
(a) Badge (b) Retina
(c) Pam print (d) Face

‘Which of the following is an antivirus?
(RWP-GI-18)

(a) Redlof (b) Logic bomb

{c) NOD32 (d) Trojan Harse

Format C is an example of: (LHR/G1-17),
(GRW/GI-18)

(a) Trojan harse (b) Redlof
(c) Worm (d) Logic bomb
‘Which of the following is not an antivirus program?
(GRW/G1-17), (GRW/GI-18)
(b) Norton
(d) McAfee
Another name for antivirus is:
(LHR/GI-18), (RWP/G1-15),

(SWL/G1-16), (SGD/G1-17), (GRW-16
(SWL-19) (D.G

(b) Worm
(d) DES

(a) Redlof
(c) Dr.Sclman

{a) Vaccine
(c) Trojan Horse

Software that is available free of cost fo time
period is called:

(a) Freeware

{c) Shareware ()

The virus which activated

is called:

{a) Logic bomb
() Worm
Additional copy

{a) backup,
{c) Mavi e
A program Lhat

aking of data
)" Forwarding the data
e viruses, called;

(LHR/G1-17)

(@) (b) Groupware
{c) Anl (d) Shareware
‘Which of following is harmful for computers:

(BWP/G1-17), (RWP/G1-17)
(b) Virus
(d) Device Driver

() Antivirus
(c) Operating system

15. Which of the following media cannot be uvsed as

backup? (RWP/G1-17)
(a) Hard disk (b) Flappy disk
(c) RAM (d) Zipdi

16. McAfee is an example:
RW-19)
(a) Virus
(c) Hacker
17. Which of the followi program?
(GRW/G1-16)
(a) Norton
(€) Avast

(RWF/G1-16)
b) Logic bomb
(d) Redolf

o Keep his personal information
Juthorized access is called:

(RWP/G1-16) (LHR-19)
(b) Privacy
(d) Assets

jitns which deletes MS Office files and disk
rtition information is called: (LHR/G1-16)

(a) Boot sector {b) Chernobal

) Logic bomb (d) Trojan horse
Who is responsible for security of online data:
(LHR/G1-16)
(a) User (b) LAN administrator

{c) Internet service provider

(d) Organization obtaining the date

22. A spare copy of data on a secondary storage device is
called; (AJK/G1-16)
(a) Stare (b) Backup
(c) Reference (d) License

. A virus that replicates itself is called;
(LHR/G1-15),(AJK/GI1-16),
(GRW/G1-15) (SGD-19) (RWP-19) (BWP-19)

(a) Bug (b) Worm
(c) Vaccine (d) Bomb

24. Which of the following is the most devastating loss to
a company: (RWP/G1-15)

(a) Loss of hardware
(c) Loss of software

(b) Loss of data
(d) Loss of printouts

25. The example of antivirus is: (LHR/G1-15),
(GRW/G1-16)

(a) MCAfee (b) Trojan horse

(c) Worm (d) Logic bomb
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26. The right to use the software on the computer is
called. (GRW/G1-15) (FSD-19)

(a) Software copyright (b) Site license
(c) Software pirncy (d) Software privacy

28. Which of the following is NOT antivirus program?
(SWL/G1-15)
{(a) NOD 32 (b) Dr. Solman
(c) MCA free (d) logic bomb

29. How a virus reaches from one computer to another?
(RWP/G1-16)

{a) Data exchanged between computer
(b) Exchange of display screen
(c) Exchange of keyboard
(d) Exchange of printer

30. Which of the following is no cause of Virus: (BWP-19)
(a) E-mail (b) Networks
{c) Logic Bomb (d) Pirated Software

31. The right to use the software on the called computer
jiH

(a)  Software piracy
(b) Software License
(c) Intellectual praperty right
(d) Software copyright
32. Which of the following viruses executes/when
starting the computer? ( 19,
(a) Boot sector (b) Logic bomb
(c) Trajan (d) Redlof

33. Checking a computer program for er

(a) Bugging

{c) Correcting

34. Computer virus is a.
(a)
(c)

35. A program that i
computer is called;

MAITN-19)
Disease
Hardware

warking of a
(GRW-19)

(a) Bacteria virus
{c) ewire
36. During tra nients of the data are
changed (AJK-19)
Encryption
37. The fhe software on the computer is
called
(a)
(b)
{c) Intellectual praperty right
{d) Software copyright

38. Which of the following viruses executes when
starting the computer? (FSD-19)
(a) Bool sector (b) Logic bomb
{c) Trojan (d) Redlof
39. Checking a computer progra

is called:
SD-19)

erroj

(a) Bugging

(¢) Correcting (G}
40. Computer virus is a.

(a) Disease

(c)

Hardware
41. A working of a

(GRW-19)

code 10 multiply itsell by altering the
and applications. The computer gets
through the replication of malicious code.
lCan uter viruses come in different forms to infect
the system in different ways.
Define the anti-virus software.
Antivirus software is a type of program designed and
developed to protect computers from malware like
viruses, computer worms, spyware, botnets, rootkits,
keyloggers and such. Anmtivirus programs function

to scan, detect and remove viruses from our
computer. Just like Naten, Avast & Mcafee,
3. How viruses may damage computer system?
(BWP-19)
Ans. Virus Damage. There are many different types of

viruses and all of these behave in slightly different
ways. They will all affect our computer differently.
Viruses commonly cause our computer to slow down
and canalso result in the loss of imporant files.

4, Define the types of virus.

3 Types Of Computer Viruses:

Browser Hijacker. Imagine typing in an internet

address and automatically bouncing through

several different sites. ...

File Infector. One of the most common types of

computer viruses is a file infector. ...

Macro Virus. ...

Polymorphic Virus. ...

Multipartite Virus. ...

Direct Action Virus. ...

Boot Sector Virus. ...

Web Scripting Virus.

Trojen horse

10 Red loof

11. Logic bomb

12. Chernobyl virns

N

EEE T
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5, What is a password? 5) How does a boot sector virus work?

Ans. A passward is a word or string of characters used for (D.G.K/G1-16), (LHR/G1-16) (SWL-19)
user authentication to prove identity or access | Apc The boot sector virus modifies the information
approval 1o gain access 1o a resource (example: an program in the boot sector loaded into
access code is a type of password), which is 1o be cor:puler memory whenever gt arts. This
kept secret from those not allowed access. virus attaches with executab e. .con
Examples of strong p. ds: and .dll. Whenever these (i irus also
ePYHc~dS*)85+V-' qzRIC{6rXN3N\RgL . execute itself and L‘Drmpl
zbfUMZPEG FC% )sZ. 6)

6. Write the names and define briefly the anti-virus.

Ans. The special programs that are used to detect and
remove the viruses from the computer are called
antivirus programs. Antivirus programs can also
prevent new viruses from getting to the computer a
large no of antivirus programs are available. These [
programs contain a list of known viruses. They also A d d 3
contain method for removing the known viruses from ns P i }?re nsed to detect ;llned
infected files or disc. However, there no single r:" cs r::lli\lfi:ume:I:l:::r:wm:unmnlsu
antivirus software, which can remove all viruses. \ 'r ".' pmgth 'n " )
Since, many new viruses are written and spread. The pre s “:: rgnem:ngre nvneil:bI:m";':;tg
commonly use antivirus programs are e ‘h.‘l: G;E‘ knr;wn viruses Tt;ey ﬂ];ﬂ
McAfee antivirus program, Avast & thod for removing the known viruses from
Norton antivirus program files or disc. However, there no single

From P:mjab Board: ! 8" software, which can remove all viruses.

Bj/many new viruses are written and spread. The

1) Give two Biometric methods to prove your iden| ,cnmrnnr\ly use antivirus programs are

tolog on a system.
. McAl i Avast &
(BWP/IG1-16),(BWP/G1-15),(FSD/G1-15), (SWLJ cAlee antivirus program Avas
(FSD/GI1-17), (LHR/G1-18),(RWP/G1-16), (FS Norton antivirus progrm
‘What is backup and Why is backup important?

Ans. Biometric sensors or access control, systems are (RWP/GI-1B), (RWP/G1-17),(GRW/G1-15),

;l_ﬂssiﬁﬂﬁ into dhwn lhrzef S;Sch;;s (BWP/G1-15),(SWL/G1-16), (BWP/G1-17),
iometrics  an ehavior: 01 .

physiological  biometrics ce (GRW/G1-16), (MTN/G1-16)

recognition, fingerprint, hadd j: Ans. Data is the most important aspect of our compuler.

recognition and DNA. Computer hardware can fail, data can be corrupted,

2) What is Privacy Issue? computers can be lost, stolen, or destroyed. ... Data

i - backup sofiware can help us protect and restore our

Ans, Prl\a_cy Issue means thofs data when something goes wrong.
see his personal data. fluest to view
data at any time. { to stop the | 8)  Wrile about Password briefly. (MTN/G1-17),
processing of da ights to claim (LHR/G1-15), (MTN/G1-16)
coTlpEssunrn df "IT“ ﬁ;r ldl;clormg Ans, A password is a string of characters used to verify the
;"c ;; ? A Gwe E éscl 05:, identity of a user during the authentication process. ...

Alalcoieg SR ZSZE Cala O Passwords can vary in length and can contain letters,

3 ::l :rgnn G::;?;;S lc:m;}D - numbers and special characters.

) eine ( - p ) ) R ) 9) How does virus spread through email?

Ans. Security is fregdo m, or resilience against,
patential harm ( er unwanted coercive change) (SWL/G1-17)
fron 4 Ans. Computers are infected due to receiving of emails

4) Wh n by data protection? containing virus programs. When a user opens such

0 = messages, the virus is also loaded into the memory
\ (CRWIGE lﬁ).U-HTN 19 and attaches itself with other programs. In this way

Ans. Dala profgetion is a process of data hiding from many other program files inside the computer are
ulhers_. A data belongs “_’ One, person or an infected. This virus is also transferred to aother
urgnm.zn.tmn' should be kept hidden from other persan computers when email messages are sent from the
or organization. infected computer to them.
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10) Identify the meaning of privacy issue.

(GRW/GI-17), (LHR/GI-17), (LHR/G1-15), (BWP/G1-16)

Ans. Privacy Issue means that any person has the right to
see his personal data. He can make a request o view
data at any time. He also has the right to stop the
processing of data. He also has rights to claim
comp ion from an orp ion for discl

such kind af data. No person is allowed to dlsclose
data collected by the organization. Using the data of

an organization without permission is crime.

11) Who is a hacker?

(LHR/G1-16),(FSD/GI-18) (RWP-19) (SWL-19)

A Hacker is a person who finds and exploits the
weakness in computer systems and/or networks to
gain access. Hackers are wsually skilled computer
programmers with knowledge of computer security. ...
Cracker (Black hat): A hacker who gains
unauthorized access to computer systems for personal
gain.

What is redlof?

Ans.

12)
Ans.

(SWL/G1-15)

It is a polymoarphic virus which has no destructive on
the computer data it automatically executes itself and
creates its copies in the computer. This virus is
wrilten in VB script only effects Microsoft Windoys.
When it executes it infects the Floder. hu file,

13) What is logic bomb?

Logic Bomb is a different virus from the
because they are set to activate on a certain
time. Famous logic virus is Friday 13

14)

Ans. When a virus performsdit
activation of virus. Diff

activated in different

nple, some
usually these

15)
(D.G.K/GL-15)

i is any incident that results in
7 ess of datn, applications, services,
and/or devices by bypassing their
i@, security mechanisms. Or Asecurity
yany knowing, willing or negligent action
that could reasonably be expected to result in an
unauthorized disclosure of classified information.

16) Give three suggestions to protect your computer
form virus. (D.G.K/G1-15), (BWP/G1-15)

Ans,

®

Never apen unknown emails,
b.  Scan all emails even if yor
c.  Minimize the data trans]
another through remoyab
d.  Avoid downloading (i
checking it for virus.
e.  Always install g

nt os like Norton,
o delele and detect the
Always keep antivirus
ke itimore secure.
our data from virus is 1o
[ important data.
Id not be installed on
e licensed software,
(FSD/G1-15),
(SW’UGI 15), (SWL/G1-15),
D/G1-16)(LHR-19) (GRW-19)

ed access and accidental damages Securing
unauthorized access or virus attacks is

irated software spread viruses?
(RWP/G1-16), (RWP/G1-16),
(RWP/G1-15)(D.G.K-19)
The virus can also infect your computer by the use of
pirated software. The software without license is
called pirated software. Some companies may
intentionally attach some virus program into their
software .This program will only activate when it
does not find licensed file an the compulter.
19) List down any two causes of virus,
(AJK-19) (FSD-19)
Here are some of the primary causes of computer
virus infections
» Suspicious Email Attachments.
explanatory. ...
» Remavable storage devices afflicted by computer
virus infections. ..,
¥ Unsecured Internet sources. .
» Pirated software’s

It's pretty self-

20) What is meant by encryption? (AJK-19)

Ans. Encryption is the conversion of information into an
cryptographic encoding that can't be read without a
key. Encrypted data  looks meaningless and s
extremely difficult for unauthorized parties to decrypt
without the correct key. The following are
commaon examples of encryption.

21)  What is intellectual property? (FSD-19)

Ans. Intellectual property (IP) refers to creations of the

mind, such as inventions; literary and artistic works;
designs; and symbols, names and images used in
commerce. Intellectual property examples would
include books, music, inventions and more.
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SECTION

1

2)

3)

4)

5)

6)

LONG QUESTIONS

Define virus? Also write different ways / causes of
spreading virus.

(D.G.K/G1-15), (LHR/G1-15),(SWL/G1-15),
(SWL/G1-16), (RWP/G1-16), (FSD/GI1-1T),
(RWP/G1-17), (SWL/GI-18), (GRW/GI-18),
(MTN/GI-18), (RWP-GI-18), (FSD/G1-16),
(D.G.K/G1-16) (SGD-19}(GRW-19)

Explain different types of viruses.
(BWF/G1-15), (BWP/G1-16),(GRW/G1-16),
(MTN/G1-17)(LHR/G1-17), (SGD/GI-18)
(SWL-19) (BWP-19) (LHR-19)

Define data security. Discuss any three ways of
data security violation.

(AJK/G1-16), (GRW/G1-17), (SWL/GL-17)

What is a computer virus? How can it da
computer? (FSD/G1-15), (FSD/G1-

Discuss different security threats to data

What is backup of data and,i
discuss different types of dataB:

N=19) (FSD-19)

Chapter
7

m 18 a: (RWP/G1-15)(FSD/GI-18)
(GRW/GI-18) (BWP-19)
(b) Application Software
(d) Software Package

2. 2 EDelare:
id key combination

zed by Windows only

0 close the active window

npared to command line operating system, a
5UI operating system is: (D.G.K-19)
a) More efficient (b) Easier to use
) More reliable (d) All of the above
The maximum number of primary partitions that
can be created on a disk is:
(a) Two (b) Three
(c) Four (d) None of the above
5. Windows Explorer is used to:
(a) Access the Internet
(b) Explorer system resources
() Perform maintenance on the hard disk
(d) Navigate files and folders on the computer

From Punjab Board:

1. The object of windows operating system used to

perform system management tasks is: (LHR/G1-16)

(a) Desktop (b) My Computer

(c) Control Panel (d) Windows explorer

The devices that are automatically detected by

‘Windows are called. (SWL/GI-18)(GRW-19)

(a) automatic devices (b) installed deices

(c) phgand play devices  (d) serial devices

3. The operating system based on NT technology is:

(SWL/G1-15), (RWP-GI-18)

(b) Windows 97

(d) Windows 2000
(LHR/GI-18)(SWL-19)

(a) Windows 95

(c) Windows 98
4. GUI stands for:

(a) General User Interface

(b) Graphical User Icons

(c) Graphical User Interface

(d) Graphical Usage Interface
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5.

10.

11

12,

13.

14.

15.

Software / hardware can be removed /installed
through: (SWL/G1-16), (SGD/G1-17)

(b) Recycle Bin
(d) My Computer

(a) Control panel
(c) My Documents
Small image representing program file etc. is called:
(FSD/GII-17), (BWP/G1-17)
(a) Menu (b) GUI
(c) Command (d) Icon
The deleted files are stored in:
(LHR/G1-17), (GRW/G1-16)
(b) Internet explorer
(d) Recycle bin

{a) My documents

(c) Windows explorer

‘Computer cannot boot if it does not have:
(RWP/G1-17), (RWP/G1-16), (RWP/G1-15)

{a) Compiler (b) Linker

{c) Interpreter (d) Operating system
The extension of an executable fileis:  (SWL/G1-17)
(a) xls (b) .doc

(c) .ext (d) .exe

The work area on which windows, Icons, menus dnd
dialog box appears is called: (GRW/G1-16)

(b) desktop
(d) Tcon

The maximum number of primary
can be created on the system are;

(a) screen

{c) working area

@) 2 (b) 3
‘Windows is the most popular

(a) Microsoft

(c) ANSI

Add new hardwa

(a) main menu

{c) taskbar

In Micro: Windows, s are recognized through

their. (ATK-19)
(b) Extension
(d) Type

erating system was developed by:
(MTN-19)

(@)
(c)

Sun system

(b) Microsoft

Hewlett (d) JAVA

Short Question wer

From PTB Exercise:

L.

Ans.

ss theirfypes.
G 1-1 1G1-17),
),(FSD/G1-16) (FSD-19)
er Interface

Define operating system and

(RWP/GI-18), (RWP/G1-
Operating  System
(GUD):-

mmand line operating systems are
ng System) and Unix etc.
omparison between Command Line
ing system and Graphical User Interface.
(SGD-19)

mmniand Line OS GUI 08

“EASE”
t is  difficult to | 1. Tt is easy to use. It is
remember its very easy lo remember
commands. It is also different sequence of
difficult 10 type activities to  perform
commands for certain task.
different tasks.

“SPEED”

2. As command line has | 2. Due 1o graphics and
no graphics there is images GUI operating
better speed. It is laster systems are slow to
than GUI to perform perform different
different tasks. tasks.

“CONTROL"™

3. Provides better contral | 3. Users have  better
of file system and control of file system.
better security as well But in some cases they
users have excellem need to use the
control on the file command line
system. interface to complete a

task.
“MULTITASKING™

4. Many command line [ 4. In GUI multitasks can
interfaces are be performed at the
multitasking but they same time these tasks
ability to  display are also displayed on
multiple tasks on the the screen. Gu1
screen at the same operating systems are
time. faster in multitasking.
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“INTERFACING” Primary :-

S. It provides a command | 5. It provides commands A primary partition is one that can be used as system
prompt aa the in graphical form on partition. Wmdm\:s and ulllm: operating systems can
computer screen. The the computer screen. ::n:m:;?nm [;UTP"::;' Pn:;u - ﬂ
user gives commands The user gives Primary n.r(ilionl: ocati )l;cpn
1o computer by typing commands to computer and :_Pnnsl be sub partitioned
on the keyboard. The by clicking with mouse -
users have to on the icon. The users Extended :-
memorize commands have not to memorize
and rules of writing commands usually A type of disk pard
these commands. mouse is used for into sub-partitions is ¢ xtended partition, In this
Usually keyboard is interfacing with way, a number_afyl B d“k.d""es can be
used for interfacing compuler. g driveris assigned a unique
with computer. d so on. In Windows

tions can be created on
“SCRIPTING" disk can have only one

6. In command line | & GUI operaing system
operating  system a provides  shoricuts (o
user can write lhe perform task fast, but it
commands  in doesnt come close in
sequence and use Lh:m comparison 1o what is and Disk
1o perform a certain avallable  through a
task. commuand line. e-User operating system and Multi-

3. Discuss different features of Windows 2000 r operating system
operating system. Ar?\ sking and Multiprocessing:
Ans. Some important features of Windows are: p.:-  Loading iple programs into
1: Multitasking memory and executing them at the same time is called
. . X multitasking. Windows is a multitasking operating
2: Multiprocessing system. A user can execute multiple tasks at the same
3: Multi-User Operating System time.
4: Plug and Play ip .. In
5: Networking programs are executed on dlfferenl proce“or‘i at the
4. What do you mean by Plug andi same time. Some operating systems have features of
Windows 2000 provide this mulupmcewmg Windows operating <y'ilem also
. supperts p ing. In P ing,
(GRW/GL-17).(F. operating system divides the work between different
(FSD/G1-16) processars, The processors work on different tasks in
Ans. Some operating system parallel.
configure new devic File and Disk
computer. This ca rnllnv system is . a2l
called plug and p the feature of plug File l_\f‘l?nagement:- A process of maintaining and
and play. It “s 2 new hardware organizing files and folders in the computer is called
device and tate driver for it. Yes file e -'?‘““ and prog instruction are
window p stored in files on disk .A folder holds files and sub
. folders. In Microsaft Windows Operating system files
5. Define P fiefly describe primary and are recognized by their extensions. Extensions are the
3 characters usually three as four letters such as .doc,
(BW GI-16), (AJK/G1-16), (MTN/GI-18), .txt, or .html that follow the period at the end of a file
/GI-18)LHR/GI-18)(GRW/GI-18) name. Windows check the file extensions against a
(GRWI/G1-16)(MTN-19) database of registered files. From this datbase of
Ans, Partiti registered files it is determined that which program

drive into separate data areas is known as disk
partitioning. A partition is a portion of physical disk.
Itis logically treated as separate disk drive.

will be used to open on edit a file .If windows
encounter a new file type which is not already
registered it will open a dialog to let you choose a
program of your choice to open the file.
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In disk management Windows operating system has
strong disk management capabilities. The disk
management utility provides a graphical interface to
user. By using this interface, the user can view status
of disk drives and perform maintenance on these
drives. The user can also divide the disk into multiple
partitions.

Single-User operating system and Multi-User
operating system:

A multi-user operating system allows multiple users
1o use the same computer at the same time (or at
different times). A single-user operating system
allows only single user to use the computer at a time.

From Punjab Board:
L Define event. Name some events of keyhoard.
(SWL/G1-15)(FSD/G1-15),
(MTN/G1-17) (FSD/G1-16), (SWL-18),
(SWL-18), (LHR-17, 18), (GRW-16)

Following are the most common events triggered
With a keyboard;

Key Down: This event triggers when you press any
key of the keyboard.

Key. Up: This event triggers when you release an
already pressed key of the keyboard.

2, Write down two names of popular ap

Ans.

ing
stems.
(GRW/G1-16),

(AJK/G1-16), (LHR/G1-16)

Popular and commonly used opefg
Windows, Unix, Linux, Solaris, and DO!

3. List at least two events of Mouse,
Ans.

Ans.

Mouse events are the actiens th
by using the mouse. The
mause are as follows,
= Left Click

= Right Click

gtime. When you click on an
it. Click on the desktop. Your

about a particular object on which our mouse painter
lies. Another example can be to view the properties of
an ohject right click option is used.

3: Double Click:

Double Click is event occurs by pressing and
releasing the left (or right) mouse button twice in a
lick on an hem.

Windows select and execute t
with the item. For example,
a program icon (o start the

4 Drag:

click on

mouse button prcss.
in GUI enviro .
perform such g
Computer object in Ms-
I lGl-lG), (GR\WGI-IS)

,S) are:
. Desktop
. My Computer
. Recycle Bin
. My Documents
. Windows Explorer
. Internet Explorer
. The Window
. Cantrol Panel
. Start Button

6. ‘Why do a computer needs an operating system?

(RWP/G1-16)(FSD-19)
Ans. An operaling system is a collection of system
that Is and co i the overall

prog
operations of a computer system. It provides an
interface for the user to interact with the computer. A
computer needs an operating system to do work.
7. Define Graphical user interface with example.
(RWP/G1-15) (BWP/G1-17),
(RWP/GI-18), (RWP/G1-16),(FSD/G1-16)(FSD-19)
Ans. Gi i User I face (GUI} op system
pn:sents commands in graphical form. For example,
. disk drives, files etc.
are presemed in the form of icons. Usually a command
is given to the computer by clicking with mouse on the
icon. Windows is an example of GUI operating system.
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Ans.

10.

11.

Ans,

Differentiate between multitasking and

multiprocessing operating system.
(LHR/GI-18),(MTN/G1-16),(FSD/G1-16),
(SWL/GI-18),(LHR/G1-17), (SGD/G1-17),

(FSD/GI1-17), (FSD/G1-15), (FSD/G1-16),
(RWP/G1-15),(LHR/G1-16)(GRW-19)(LHR-19)

In multipr system, a uses more
than one CPU at a tme. Multitasking - Multitasking
is the ability of an operating system lo execule more
than one task simultaneously on single processor
machine, these multiple tasks share common
resources such as CPU and memory.

How we can manage files and folders?
(GRW/GI-18),(D.G.K/G1-15),
(BWP/G1-15), (SGD/G1-17)
File management is organizing and keeping track of
files and folders, helping Us sty orpanized, so
information is easily located. ... Windows allows us ta
organize folders and files in a file hierarchy, imitating
the way you store paper documents in real folders,
Describe the purpose of cantral panel.
(FSD/GI-18), (SWL/GI-18), (§GD/GI-18),
(SWL/G1-15),(FSD/G1
The Conlml Panel is a special folder that contai
A Tools  (sy
perform  system management  tasks  Su
installing/uninstalling hardware devices, managi

system resources, sharing printers, and getting up date
and time etc.

ive ware)

determine access levels 4
related to system resourde

(RWP/G1-17)

tiple documents are sent to the printer for
printing, they are added in a queve in an order in
which they are sent to the printer. This list of
documents waiting to be printed on the printer is
called print queue.

14.  Define plug and play feature of window.
(SWL/G1-17), (D.G.K/G1-15) (GRW/G1-17), (FSD/G1-15),
{LHR/G1-15), (FSD/G1-16), (GRW/G1-16) (SWL-19)
Ans. Plug and Play (PnP) is a cg lity developed by
Microsoft for its Windows @ pperating
systems that gives users the Vi
into a computer and have ghe c
the device is there. ... Mi
a selling point for its V
those devices are n6xeg ¢ drivers that is
ouse and monitors
15. Whatismy (GRW/G1-17),

(GRW/G1-16) (SWL-19)

so'a special falder on the desktop,

created when Windows is installed.
applications use ‘My
as default folder for storing files.

y four components of windows operating
(BWP/G1-17)

? 2 User interface.

3 Applications and wiilities.
4 Windows Server components.
5 File systems.

6 Core components.

7 Services.

8 DirectX.
17.  How can you use Multiple Operating System on a
Disk? (MTN/G1-17)
Ans. In this case, we divide the computer’s hard drive into

multiple "partitions,” then install different operating
systems in each partition. ... Since all RAM is used by
only one OS at a time, speed is maximized. This is a
common way to get started with multiple operating
systems on one compuler.

18. 'What is the purpose of Recycle Bin?

(SGD/G1-17), (GRW/G1-15) (RWP/G1-15), (LHR/G1-15),

(MTN/GI-18), (BWP/G1-16) (SGD-19)(AJK-19)

Ans. The Recycle Bin is a special folder of Windows on

the hard disk. Tt has an icon on desktap. It contains

files and folders that are deleted from the hard disk.

Any files and folders you delete from the hard disk

are transferred to the Recycle Bin. These files or

folders can be restored from the Recycle Bin to their
original location if required for use.
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19. Derne Ducumem Mnnagemenl System, Name four

Pr of d system.
(LHR/G1-16) (LHR-19)
Ans. Document management, often referred to as
i M: Sy (DMS), is the use

of a computer system and software to store, manage
and track electronic documents and electronic images
of paper based information captured through the use
of a document scanner.

Examples in category "Document management
systems"'

» AccuSystems.

» Agorum core,

» Aiki Framework,
» Alfresco (software)
> Ametys CMS.

> Ansarada.

v

ApexKB.

Archivista

Benefits of Document Management Systems
Reduced Storage Space.

Enhanced Security.

q

P! y Compliance

Easier Retrieval.
Better Collaboration.

Better Backup and Disaster Recovery.

Y V.V ¥V Y VYV V V V

And the "Intangibles"

20. .Define user interface. 'G1-16)

simply an
n controls a
... Nearly all

given 1o the computer by typing on the
he commands are typed according to the
predefinS@hformat. It is not an easy way to interact
with the [ Examples of C d line
operating system are DOS (Disk Operating System),
and Unix etc.

22.  What is partition, and How many Primary and
Extended Partitions can be created on basic disk?

(BWP/G1-15), (RWP/G1-16), (ATK/G1-16),
(MTN/GI-18), (SWLIGI=17) (FSD/GI-18)
(LHR/GI-18) (GRW/GI- JRW/G1-16)

Ans. Computerhard drive, a digk iomfor partition is

eparated from
e users (o divide

button is used in windows?
(RWP/GI-18), (MTN/GI-18),
(GRW/G 1-17), (SWL/GI1-16),
(GRW/G1-16). (D.G.K/G1-16)

4

Al The Start button is located at the left most side of the
taskbar. Start bu(mn is the gateway of accessing most

of the on the ‘When Start
button is clicked, 2 menu known as Start menu
appears on the desktop.

SECTION I

LONG QUESTIONS

1) Define different types of operating system on the
basis of user interface. Also write four comparisans
between them. (FSD/GI-18)

2) Define Graphical User Interface and command

Line Interface Operating Systems. Give any four
comparisons between them. (LHR/GI-18)

X XX XX XX
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Chapter

8

Word Processing

SECTION I

MULTIPLE CHOICE QUESTIONS

From PTB Exercise:
1. Which of the following is a Word processor?

(a) Adobe Acrobat (b) Photo Express
(c) MS Excel (d) MS Word

2.  Which of the following keyhoard shortcuts is used ta
change the case' (LHR/GI-18) (SWL-19)

(a) Cul+F3 (b) Shift+F3
(c) AI+F3 (d) Curl + Shift+F3
From Punjab Board:

1. Which function key is used for checking spelling
grammar is MS-word? (D.G.K/G

(FSD/GI-18) (D.
(a) F1 (b) F2
(c) F4 (d) F7

2. Common font size used in business do

{a) 10-points
(c) 14-points
3. The extension of Ms-Word

(@) .ixt
{c) .doc

4. When creating
name of Docume

(a) Filel

ing character bold?
(RWP/G1.17)

(a) (b) CTRL+B
(c) Shi (d) Al4+B

6. Header footer option can be used from which
menu? (SWL/G1-17)
(a) Tools (b) Inmsert
(c) Edit (d) View

7. When MS Word is opened, the name of default

document or file is? (GRW-19)
(a) Dacumentl (b) File 1
(c) World 1 (i ~Word 11

8. Shortcut key to save a file in M TN-19)
(@) Ctrl+§S
(c) Cul+F

@ Cul+C

(c) Curl+A

STION ANSWERS

xercise:
i$8 text editor? Describe its basic features.
(MTN-19)

r{ A text editor pracessor that provides only the basic
features for creating and editing document is called
text editor. A text editor is also called simple word
pracessor. It is used for creating and editing simple
word documents. In windows operating, word pad™
notepad are example of text editors on simple word
Processors.

1 Basic features of text editor:

Basic features of text editor on simple word
processors are as follow.

2 Insert text:

This feature allows you to enter text in the document.
Delete text:

Cut:

Capy:

Paste:

Page size and margin:

Find and replace:

Word wrap:

Print:

Save:
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1. Describe features of a full-featured word
processor. (MTN/G1-16), (FSD/G1-16),

(GRW/G1-16), (RWP/G1-16), (BWP/G1-16),
(GRW/G1-16), (LHR/G1-16), (SWL/G1-17),
(BWP/G1-17), (BWP/G1-17), (GRW/G1-15),
(FSD/G1-15), (LHR/G1-15), (SWL/G1-16), (FSD/GI-18)
3.
Ans. Fonl Specifications
Footnotes and Cross-references
Graphics
Headers, Footers and Page Numbering
Layout
Macros
Mail Merges
Spell Checkers
‘Thesaurus

Document Window

From Punjab Board:
1. Explain “SAVE™ and “SAVE AS” commands.
(MTN/G1-17), (SGD/

(BWP/G1-17), (LHR/

Ans. This is a common problem when one is first learni
1o use a computer. first time whi
document you can use both options to
save is used to save the changes made
save as is vsed to create the copy
document with anather name.  &_

2. Describe “Undo™ and “Re
(SWL/GI-18),
(RWP/G1-16), ( D/GI1-17),
(SGD/GI- , (LHR/G1-15)
Ans. To reverse yo 7 gress CTRL+Z. To

i RL+Y. You can
hat has been undone.
and only after Undo

reverse your last

old in MS-Word?
(GRW/G1-16)

Ans. To . select and highlight the text first.
Then down Ctrl (the control key) on the
keyboardPund press B on the keyboard. To make
text italic, VSelect and highlight the text first. Then

hold down Cirl (the control key) on the keyboard and
then press the I on the keyboard.

4.

Ans,

Ans,

Differentiate between font size and font style in
MS Word. (D.G.K/G1-16), (AJK/G1-16),

(SGD/GI-18), (GRW/G1-17), (MTN/G1-17),

ng. Line  spacing is  the space
a paragraph. Word allows you
e line spacing to be single spaced
double spaced (two lines high), or

1.08 lines, which is slightly larger than
aced.
Macro in MS-Word is helpful for us?
(MTN/GI-18), (RWP/GI-18),
(D.G.K/G1-15)
In Word, you can automate frequently used tasks by
creating and running macros. A macro is a series of
commands and instructions that you group together as
a single command to accomplish a task automatically,
How do you make the selected text italic in MS-
Word? (GRW/GI-18)

. Holding Ctrl and hitting T will allow you to italicize

any highlighted word
Define header and footer in Msword.
(RWP/G1-15), (SWL/GI-18),
(SGD/G1-17)

. The header is a section of the document that appears

in the top margin, while the foater is a section of the
document that appears in the bottom margin.Headers
and footers generally contain information such as the
page number, date, and document name.
Define word processor and full-featured word
Processors. (MTN/G1-16), (FSD/G1-16),
(GRW/G1-16), (RWP/G1-16), (BWP/G1-16),
(GRW/G1-16), (LHR/G1-16), (SWL/G1-17),
(BWP/G1-17), (BWP/G1-17), (GRW/G1-15),
(FSD/G1-15), (LHR/G1-15), (SWL/G1-16),
(SWL-19) (BWP-19) (FSD/GI-18) (MTN-19)
A word processor is a computer program or device that
pravides for input, editing, formatting and output of text,
often plus other features. Early word processors were
stand-alone devices dedicated 1o the function, but
current word processors are word processor programs
running on general purpose compulers.
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Or 12.  What is WYSIWYG?  (RWP/GI-18)(LHR-19)
A word processor is software or a device that allows | Ans. WYSIWYG is an acronym for What You See Is
users lo create, edit, and print documents. It enables What You Get. WYSIWYG is a way of designing
you to write text, store it electronically, display it on electronic documents so that con
a screen, modify it by entering commands and graphics is displayed on ser
characters from the keyboard, and print it. Of all way that corresponds exactly
computer applications, word processing is the mast printed or displayed as a fipis
common. Simply: A WYSIWYG {(
10.  What is meant by character formatting? editor or program is one t
(SWL/G1-17), (RWP/GL-17), “hﬂg the end rewtllt g A
or document is bei e 1s an
(BWP/G1-16) acronym for " *.
Ans. Character an,allmg. _Characler .formamng.m 13.  What is mea ation? (FSD/GI-18)
Word has to do with applying formatting properties 15) (RWP-19
to enhance the appearance of individual text " 7 ) -19)
characters. Character formats can be applied to a | Ans. Page Orient: e/orientation is the direction
single character, word, sentence or a line of text, in w ads displayed or printed. The two
without such formatting affecting the entire current basig e nden(allon are portrait (vertical)
paragraph. rizontal). Most monitors have a
Acharacter style is a collection of character lang while most documents are printed
formatting atiributes that can be applied to textin
asingle step. A paragraphstyle includes both ate purpose of mail merge.
character and paragraph formatting attributes, B g
and can be applied to aparagraphor range of Z RWP/GI-17), (GRW/GL-17)
paragraphs. Paragraph styles and character styles feature user can merge data of another file
are found on separate panels. in cument. This helps in generating different files
e Wy e M /“"“mm i fan. Fr o
with shorteut keys. ( +16), ( different addressing labels.
(BWP/G1-17) Define Text Editor and list any two features of text
Ans. When using applications such as MS word, the editor. (LHR/G1-17), (MTIN/G1-17), (SWL/G1-16),
can perform activities related to document creation. It (GRWIG1-16), (RWP/G1-16) (MTN-19)
provides various options for the usei 5
different tasks. Cut and Copy are two 9 Cut | Ans. A word processor that provides only the basic features
helps to remove the selected section of d: 4] for creating and editing document is called text editor,
original position. On the othe Ips to A text editor is also called simple word processor. It
create duplicate content. the is used for creating and editing simple word
selected data in a lemporag§/storage documents. In windows operating, word pad™ notepad
clipboard. Later, these sayé ried into are example of text edilors on simple word
the same document or si processors.
paste option ctrl and 3. Basic features of text editor:
Simply:-In Cut Pa: Should press ctrl Basic features of text editor are as follow.
and X keys togel d and to paste, the )
user should pref s together. In Copy 4. Insert text:This feawre allows you to enter
Paste, 1o per! should press ctrl and text in the document.
C keys 1o pard and, for paste, ctrl 5. Delete text:Entered text can be deleting as per
and V ke, requirement you can erase characters. Spaces,
words, complete sentence, paragraph and even
Shortcut Keys Description pages easily.

Cut selected item.
Ci Copy selected item.
Ctrl+In$ Copy selected item

Curl+V Paste

6. Cut:This feature allows the user to remove
(cut) the selected text into clipboard. The
selected texts are removed from the document.
‘This feature is used if you want to remove the
text from one place in a document to another.

7 Copy: It will create the copy of selected text
for duplication.
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16.

17.

18.

8. Paste: This feature allows the user to paste
(insert) the text on item from the clipboard in
to the specified location of document.

9. Page size and margin: This helps in managing
the size of page and set it margins. Word
processor will automatically read just text
according to the page size and margins.

10.  Find and replace: This feature is used to find
a piece of text, portion of a word or phrase. It
also allows replacing the found text with
another piece of text.

1. Word wrap: The word processor
automatically moves to the next line when you
have filled one line with text and it will read
just text if you change the margins.

12, Print: User can print the text into a hard copy.

13.  Save: This feature allows the user to store the
document permanently on the click for later
use.

List two advantages of word processor over
typewriter. (MTN-19)

Typewritersonly have one standard template
whereas word pr have
Onword processors, templates can be used

letters, essays, articles, brochures, etc. Even i

it 1o an older state. In all
the Unde command is
Command-Z. The comi
Microsoft ~ Windows
Ctrl+Shift+Z

What are headers audd ‘osoft Ward?

The itor is commonly used to refer to a text
editor, which is a software program that allows users
to create nipulate plain text computer files. They

are often uted in the field of computer programming.
Notepad and WardPad are examples of word
processers.

Computer [Part-1]
ON III
LONG QUESTIONS
No long questions in this Chipter jab
Text Book Board.

X %x

Chapter

. i the following is a spreadsheet?
§'Word (b) MS Excel

ﬁ MS PowerPoint (d) Bothad&b

2. e actual working area in Microsoft Excel is:

(D.GK-19)

{a) Workbook (h) Worksheet

(c) Spreadsheet (d) Note sheet

‘Which of the following in an absolute addresses

(a) Al (b) Al

(c) ASIS (d) None of above
4. Formulas can only be applied on:

(a) Values (b) Labels

(c) Unmerged cell (d) None of above
5. Which of the following functions is used to get the

current date? (AJK-19)
(a) Exact () (b) Today ()
(¢) Month () (d) Year()

From Punjab Board:

1. The number of argument in SQRT () function in
MS-Excel is / are: (SWL/GI-18)

(a) one
{c) equal to range
2. 'Which of the following is an absolute address:
(SGD/G1-17)

(b) two

(d) equal to column number

(a) Al
(c) AS1

(b) 5A1
(d) $AS$1
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3.

7.

The vertical dimension of spread sheet is called:
(RWP/G1-17)
(a) Field (b) Record
{c) Row (d) Column
The defanlt number format assigned to a cell is:
(GRW/G1-17)

(a) currency (b) number

{c) text (d) general

The cell range from A3 to G3 should be written as;
(AJK/G1-16)

(@) A3-G3 ) A3:G3

(c) A3.G3 (d) A3 G3

Absolute reference is created by adding sign of:
(GRW/G1-16)

@ # (b) =

«© $ (O

‘Which of the following is a correct cell address:

(SWL/G1-16), (LHR/G1-17), (BWP/G1-17) (BWP-19)

10.

11

12.

13.

(a) AA (b) 25
(c) 3B (d) C5
The function that is used to get the maximum val

in MS-Excel is called: (FSD/GIAR)
(1) MAX () (b) HIGHEST()
(c) GREATER() (d) MAXIMUM ()
In MS-Excel, formula begins with:
(D.G.K/G1-16), (!
(@) > (b) <
() = [C)]

How many worksheets are
by default?  (SWL/GI.

@ 3

ction is used to get

current datain M el (D.G.K/G1-17)
(a) (b) date()

(c) datt (d) none

Calling a in MS Excel by just their address (like
Ay, By) is called: (LHR/G1-16)
(a) Named ranges (b) Labeling

{c) Relativereferencing (d) Absolute referencing

14. The function in MS-Excel is used to get the smallest
value is called: (RWP/G1-16)

(a) MAX

(¢) Minimum

(b) MIN

d S

A workhook is a group of:

{a) Tables

(c) Sheets

16. A collection of relat
(a) Website
{c) WorkArn

15.

G1-16)

17.

(d) Address
g are create by adding (SGD-19)

(b) % sign
1 (d) $sign
J econd column and 15th row has a cell
nddse (SWL-19)
I) S (b) 15B
(c) B1S (d A5

20. A formula in MS-Excel is always begin with:
(RWP-19)
(b) =
(d) >
SECTION IT
SHORT QUESTION ANSWERS

From PTB Exercise:
1. Define spreadsheet and discuss its basic features.
Ans.

(a) >
(c) ==

A spreadsheet is an application program. It provides
worksheets to enter and process data. In a worksheet,
data is arranged into rows and columns just like a
table. Ms-Excel is an example of spreadsheet

program.
2. The basic features of spreadsheet program are as
follows:
Ans, () Grid of Rows and Columns
(ii) Formulas
(iii)  Functions
(iv) Commands
) Text Manipulation
(vi)  Creating Chart in Excel
(vii)  Printing
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3. Differentiate the following:

Workbook and Worksheet

A worksheel consists of rows and columns. Data is
entered in Worksheet. A Workbook is a file of
document. It is a collection of worksheets.

Active Cell and Spreadsheet

‘The currently selected cell where data can be entered
or edited is called the Active Cell. When another cell
is selected or cell pointer is moved ta another cell,
then that cell becomes the Active Cell.

Function and formula

A formula is a mathematical expression that is
combination of numbers, constants, cell addresses (or
cell references) and arithmetic operators. It is written
by user. A function is a built-in predefined formula
that is used to perform specific calculation.

4. Labels and Values: (FSD-19)

The main differences between labels and values
are as follows.

Labels Values

1) A label is a text entry [I) A wvalue can be a
into a cell of number, a date, a
worksheet  such  as formula or
"My Name "Taotal formula’s result.
Marks" etc.

2) Mathematical 2) Mathematical
operations  cannot be operations can  be
performed on labels. perfar

5. What do you understand by the term
Can it be helplul in simplifying them

Ans. Find named ranges:

1. The Ga to popup win
every worksheet in our w

the range in the
(or click OK).

Recalculiion
Quick calculation
charts

From Punjab Board:
1) ‘Write function that totals cells B3 through B 10.
(SWL/G1-16), (LHR/G1-16)

Ans. =sum(B3:B10)
2)
Ans. Unlike relative references

3)

Usually 1ext, a numeric value, or a
The entire spreadsheet is composed of rows
ns of cells. A spreadsheet cell is analogous
in database management systems. ... Each
dentified by a unique set of numbers. Cell
dentified with its address. Address consists of a
column indicator and a row number, e.g. cell D14 is
the cell in column D, row 14.
4) ‘Write any twe differences between active cell and
passive cell in MS-Excel.
(FSD/G1-16), (BWP/G1-16),
(D.G.K/G1-15), (GRW/G1-17), (MTN/GI-18)
(SWL-19) (MTN-19) (SGD-19)
. There are two slates of a cell, i.e. active and passive.
The currently selected cell where data can be entered
or edited i5 called the active cell. When another cell is
selected or cell pointer is moved to another cell, that
cell becomes the active cell. Actwally, at a time a
single is active and other cells of worksheet are
inactive. The inactive cells are known as passive cells.
5) State two fealures / advantages of Spreadsheel
Software. MTN/G1-16), (MTN/GI-18),

(MTN/G1-17), (LHR/G1-16),
(SWL/G1-16), (RWP/G1-17), (BWP/G1-16)

. The basic features of spreadsheet program are as
follows:

(i) Grid of Rows and Celumns

(ii) Formulas
(iii) Functions
(iv) Commands

(v)  Text Manipulation
(vi) Creating Chart in Excel
(vii) Printing
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6) Write the use of spreadsheet program. 12) Differentiate between workbook and worksheet.
(GRW/GI-18) (SWL/G1-17).(SWL/GI-18), (GRW/G1-17),
Ans. Spreadsheet: A spreadsheet is an interactive (SGD/GI-18), (D.G.K/G1-15), (RWP/G1-16)
lication for or; analysis and (MTN-19) (SWL-19) .19) (D.G.K-19)
storage of data in tabular form. Spreadsheets are Ans. A worksheet or sheet is a sin e created
dnvelopled as computerized simulations of paper with an electronic spreads| sich as
accounting worksheets. The program operates on data Excel or Google Sheets he name
entered in cells of a table. given 1o an Excel file e of more
7 ‘What is merge and center option in excel? worksheets.
(GRW/G1-16) (LHR/G1-15) | 13 Explain # symbol in
Ans. Tomerge a group of cells: Highlight or select a range . (‘FSD',G“'”)
of cells. Right-click on the highlighted cells and select | Ans. Microsoft Exee a that if we want to
Format Cells.... Click the Alignment tab and place a vafde our jto numbers we “‘-n create
checkmark in the checkbax labeled Merge cells. it using 0 (zéfo ): — # symbol is used to
5 _‘ , format a mbol is used to place it
8) What is 3-D sheet? (GRW/G1-15) inste; ile using a custom format. ,
Ans. A 3-D dsheet is a dsheet that has multipl (c ma) is used to separates the
interacting sheets and 3-D functions to carry out th umber
organization, analysis, ation and storage of | 14) N; ed of Chart used in MS. Excel?
dnta._ - A lSAD spreadsheet is also known as a (BWP/G1-17), (LHR/GI-18)
multidimensional spreadsheet.
rts - Types
9) Write function of worksheet in MS-Excel.
umn Chart.
(AJK/G1-16), (GRW/G1-16),(ATK/G1-16) - ine Chart.
Ans. A formulais an expression which calculates the v: l' Pie Chart.
of a cell. Functions are predefined formulas a
already available in Excel. For example, 4 . Doughnut Chart.
below contains a formula which adds the vald . Bar Chart.
A2 to the value of cell Aljust like
min(),date() - Area Chart.
XY (S 3
10) What do you understand by named - (Scattzr) Chgst.
. Bubble Chart.
15) Explain the difference between Labels and Values
Ans. Find named ranges: in Excel (SGD/G1-17) (FSD-19)
We can use a group of cells, Ans. Entering data into a spreadsheet is just like typing in a
range. This is called name word processing program, but you have 1o [first click
1. The Go 10 popu the cell in which you want the data to be placed
. ; pkph . before typing the data. All words describing the
On every works values (numbers) are called labels. The numbers,
2. which can later be used in s, are called values.
16) Define sum and average function. (LHR/G1-15)
Ans. Returns the average (arithmetic mean) aof the
11) Explain arguments, For example, if the range Al1:A20
Excel. contains numbers, the formula =AVERAGE
Ans. Definitid (A1:A20) returns the average of those numbers.
me: addres: - resenls some dislance (rom a If we need to sum a column or row of numbers, let
stay oint (basefiddress), such as the first byte of Excel do the math for us. Select a cell next to the
ap ) The absolute address is derived numbers we want to sum, click AutoSum on the
by it 10 the base address. (or)Relative Home tab, press Enter, and we're done. When we
add. ans an address specified by indicating its click AutoSum, Excel automatically enters a formula
distance \ftom another address. called the base (that uses the SUM function) to sum the numbers.
address. For example. a relative address might be | 17) Write formula for Calculating Average of three
B+15, B being the base address and 15 the distance numbers, (D.G.K/G1-16)
(called the offset). Ans. =@al+bl+cl)3
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18)

19)

Differentiate between formula and function.
(LHR/GI-18),(LHR/GI-18), (RWFP/GI-18),

(FSD/G1-18), (BWP/G1-15), (GRW/G1-15),(MTN/G1-
17), BWP/G1-17),(LHR/G1-17), (SGD/GI-18),
(RWP/G1-17), (GRW/G1-16) (D.G.K-19) (LHR-19)
(BWP-19)
The difference is that a function is a built-in
calculation, while a formula is a user-defined
calculation. A formula could just use a single
function. For  example, il you  enter
=AVERAGE(A1:A56) . that is a formula, using the
AVERAGE function.

Enlist four functions used in MS Excel. (RWP-19)
Microsoft Excel Function List

Listing of the most useful Microsoft Excel functions.
Explanations on how to write each function in Excel
and examples of its use are provided.

Mathematical Funclions

»
»

»>

>

Sta
>

>

YV VvV VvV VY

Y

SUM - Adds up all the values in a range
SUMIF - Adds all the values in a range that meet
specific critera

SUMIFES - Adds values in a range based on multiple
criteria

FLOOR - Round a number down to a multipl
significance

tistical Functions
COUNT - Counts all the values in a range

AVERAGE - Calculates the average number from a
range of values

MAX - Finds the maximum value in a r
MIN - Finds the minimum valucg

COUNTBLANK -
COUNTIF -

specific critera
COUNTIFES - Count§’
multiple criteria
AVERAGEIF-
values that

Cou
Counts al

Excel, a chart is often called a graph. ...
a powerful too] that allows you to visually
in a variety of different chart formats
, Column, Pie, Line, Area, Doughnut,
Scatter, Surface, or Radar charts. With Exeel, it is

easy lo create a chart.

21

22)

Y 4

Write the formula to calculate the average of cells
A210F2. (GRW-19)

=AVERAGE(A2:C2)

‘What is the most powerful fe:
and why? (GRW-19)

The most powerful feat
it automatically rec
mathematical formulas i
A spreadsheet can
manipulate a large ai
and share it with other

numerical information
ide variety of forms

(FSD-19)

ingful range name (such as Income) is
sier to remember than a range address

After you select a named cell or range, its name
appears in the name box.

You can quickly move to a named area of your

worksheet by choosing a name in the name box.

Creating formulas is easier, because you can paste a
cell or range name into a formula.

Names make your formulas more understandable
and easier to use. For example, =Income-Taxes is

more intuitive than =D20-D40.

[ SECTIONII |

LONG QUESTIONS

No long questions in this Chapter by Punjab

Text Book Board.

I X XX XX
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10

Fundamentals of the Internet

SECTION I

MULTIPLE CHOICE QUESTIONS

From PTB Exercise:

1)

A computer can be linked to the Internet through:
(a) A phone-line modem (b) DSL
{c) Cable modem (d) All of the above

2) Which of the following is an e-mail client?
(a) Internet Explorer (b) Outlook Explorer
{c) Google (d) None of these
3) Which of the following protocols is uses to access
web pages on the World Wide Web? (D.G.K-19)
(a) TCP/IP (b) Gopher
{c) HTTP (d) HTML
4) Which of the following is used to find info n ol
‘World Wide Web?
{a) Web browser (b) Web site
{c) Search Engine (d) Web serve
5) The length of IP address is: -19)
(@) 8bit (b) 16 bif
{c) 32 bit (d) 64 b
From Punjab Board:
1. How many types of addr: there?
(a) 2
() 4
2. .com, .edu an:
(a) top lev
{(c) prot
3. World Wide Web tablished in: (LHR/GI-18)
@) (b) 1985
{c) 1 (d) 1992
4. A conne of related web-pages is called:
(SGD/G1-17)
(@) WWw (b) Web portal

{c) Website (d) Web server

5. A standard IP address is composed/ length of:
(GRW/G1-16), (S§GD/G1-17), (LHR/G1-15),
(D.G.K/G1-17), (BWP/G1-15)

(a) 4-bits ) 1
(c) 32.bits (d) 64-bits

6. Who is owner of the interngt? (GR 1-17)
(a) US Government
(c) United Nations ese

7 (GRW/G1-15)

(LHR/G1-16)
(b) Server
(d) NIC
(FSD/GI1-17)
Honal service provider

service provider

el service party
(LHR/G1-17)
(a) Internet
) Web browser (d) search engine
‘Webpages are written in: (RWP/G1-17),
(AJK/G1-16), (BWP/G1-17), (SWL/GI-18)
(a) HTML (b) Assembly
(c) HTTP (d) C++
12. Web pages are connected to one another using:
(SWL/G1-16) (SWL/G1-17) (FSD-19)
(b) HTTP
(d) Multimedia
(RWFP/G1-16)

(b) ISP

{a) Interlink
(c) Hyperlinks
13. Internet explorer is used to:
(a) Access the internet
(b) Explorer the system resources
(c) Perform maintenance on the Hard Disk
(d) Navigate file and folders on the computer
14. A computer can be linked to the internet through:
(RWP/G1-16)
(a) A phone-line modem (b) DSL
{c) Cable Modem (d) All

15. Which of the following is used to find information on
world wide web? (RWP/G1-15)

(a) Web browser (b) Website
(c) Search engine (d) Web server
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16.

17.

18.

19.

20.

21.

-

22,

23

24.

25.

26.

Software that is used to view and search pages on
internet is: (BWP/G1-15), (FSD/G1-16)

(a) Webserver (b) Web browser

{c) Website (d) Webpage

A collection of related web pages is called:
(GRW/G1-16), (D.G.K/G1-16)

(a) web site (b) web link

(c) web hosting (d) web publishing
Internet difTer one from

by: (RWP/G1-16)

{a) Architecture (b) Manufacturer

(c) IP address (d) Brand Name

‘Web pages are connected to one another using:
(SWL/G1-16)(SWL/G1-17)(FSD-19)

{a) Hyperlinks (b) HTTP

{c) Interlink (d) Multimedia
Transferring information from computer to internet
is called: (SWL/G1-16)
(@) ding (b) i

{c) pasting (d) transferring

Mohile phone (Cellular) system often use (SGD-19
(a) MAN (b) WAN
(c) LAN (d) PAN

A collection of computers connected toge
called : (RWP-1

(a) Processing
{c) Chatting

(a) Bus
{c) Star

using which of followi
(a)
(b)
(c)

Terminator

hich all computers have
ve control over there:

(BWP-19) (GRW-19)
(b) Clint Server

(d) Client to Client

‘Which of the following is Internet protocol? (MTN-19)
(a) TCP/IP (b) IEEE

(©) MAC d) SNA

27. Internal network of an organization that uses

Internet and web techniques is called: (LHR-19)
(a) Intranet (b) Extranet
{c) Uploading {d) Do ding

28. Each computer on a computer/ctwo led:

ITN-19)

(a) Link (b) Code
(c) Node

29. Which is communica (MTN-19)
(a) Router
(c) CD d rnet

30. In which of thel il tentral device failed, the
entire network'h (AJK-19)

(d) Bus

and error control is the
(AJK-19)

(b) Network layer
(d) Physical layer
bat connect multiple network using similar

layer

differgnt protocol is: (LHR-19)
’ (b) NIC
(c) Bridge (d) Modem

domain name is the text version of
(SGD-19)(FSD-19)

(b) Hyperlink

(d) HTML

(a) IP address
{c) Hypertext

34. Which of the following is e-mail client software?
(SWL-19)
(a) IE (b) Google. Com
(c) Outlook express (d) MS Word

35. Which of the following is an Internet Protocol:
(RWP-19)
(a) Ethernet (b) ARC net
(c) TC/IP (d) MAC

36, Which portion of URL is domain name? (GRW-19)

(a) Microsoft.com (b) www
(c) hup (dy

37. In 32-bit IP addressing scheme, the value of address
ranging from: (AJK-19)
(a) O3l (b) Oto127
(¢) 0to255 (d) Unlimited

38. Which program is used to connect to a remote

computer to the Internet? (FSD-19)
(a) WWW (b) Email
(c) FTP (d) Telnet
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S T1ON II
SHORT QUESTION ANSWERS

From PTB Exercise:

1. Briefly describe the history of the internet.

Ans. The work to develop a communication system was
started in 1960 during the cold war between the USA
and Russia. In 1957, Russia launched Sputnik, the
first artificial earth satellite. In response 1o the
launching of Sputnik, the Americans established the
Advance Research Projects Agency (ARPA) in 1958.
ARPA was given the task to develop a
communication system.
In 1969, ARPA established a small computer
network. It was named as ARPANET. ARPA stand
for Advance Research Projects Agency. ARPANET
was a network of four computers.
The idea of computer networking soon becomes
popular. During 1970s and 1980s several universities
& research organization developed their own
computer networks. Similarly, many other networks
for military use were developed. In 1986. The
National Science foundation (NSF) was established.
Another federal agency of USA established a network
and named as NSFNET. It was established for
academic purpose. It was accessible by everyane.
Later, it was expended all over the country. A
number of networks of universities and rg
centers were connected to this network, so
could share information. This large netwol
computer network was named as Internet,

2. Write a note on World Wide Web.

Sir Tim Berners-Lee created a new

Ans.

Ans.

internet Protocol. It is a unique identifier
8 oned to a computer an the internet. It is a

@ddress with four numbers separated with
dots. The vhlue of each number is between 0 and 255.
‘These numbers are called actets. An example of IP
address is: 216.27.61.137.

Every computer on the internet has a unique IP
address. A server has a static IP address that does not
change. When a user’s computer connects to the ISP,
it is assigned an IP address by ISP, This IP address is
unique for that session. It is no! . When the same
computer will be connected (Wi ifferent IP
address will be assigned to it.

DNS Addressing
(RWP/G1-16) (BY

DNS stands for Don
are difficult 10 rem

9) (GRW-19) (LHR-19)

me System. IP addresses
e users. Every server
% 2 unique name. The
gned to the computer
led the domain name. It
t name and is allernative
irgéxample, “hotmail.com™ is a
LE m:ldahle name. It is easier to
P Address.

human-read:

D). The top —level domnin specifies the
main such as type of organization. It comes
of host name separated with dot (.). The

Type of Institution
Business (commercial)
Educational institutes

.gov Government organizations

.org other organizations

A way of assigned domain names to IP addresses is
called Domain Name System (DNS). DNS server is
used to domain names and their corresponding IP
addresses. The DNS server translates the domain
name in to the corresponding IP addresses.

‘What do you know about Email? Discuss briefly.
(D.G.K-19) (RWP-19)

E-mail is sent and received with reference to e-mail
address. A user must have an e-mail account on any
e-mail server, to send and receive e-mails.

The general format of an e-mail address is:
Where
Username:Specifies the name of user or organization.

Domain _name: Specifies the name of server of ISP
(or DNS address) to which it's belonging. For
example, pak786@hotmail.com is e-mail address.
The “pak7867 is the name of user and “hotmail.com™
is the name of server. You must type the correct e-
mail address to send an e-mail. Otherwise it is
returned back. When someone sends e-mail to your e-
mail address it is stored in your mailbox.
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6. Write a note on the following: 2) ‘What de you know about TELNET?

Ans. Newsgroups:(FSD/GI1-17), (LHR/G1-17) (SWL-19) (GRW/G1-16)
News Groups are discussion groups or forums. They | Ans. Telnet is an abbreviation for Terminal Network. It is
provide the services (o exchange messages on the remote or host
Internet about a particular subject. Newsgroups are ough this
classified according to different subjects. For on the
example, Health, hobbies, celebrities, and cultural
events etc. are the subjects of many newsgroups. 3)

Senrch Engine:- Search engines are the special (RWP/G1:16)(BWP-19) (GRW-19)
websites. These websites provide facility to Internet | Aps, ftemn. IP addresses
users ta search different information on the Internet. the users. Every server
Search engines have become very popular all over the a3 2 unique name. The
warld. Millions of people use search engines to search gned to the computer
information on various topics. The most popular (server) on I led the domain name. Tt
search engine is "GOOGLE". name and is alternative
TCP/P: TCP/IP stands for Transmission Control e, “hotmail.com” is a
Protocol / Internet  Protocol. It is the . It is easier 1o
communication protocol used for Internet and
similar networks such as Intranet and Ex!r'mel It has two parts, a host name and
1s and the data ion over omain is also known as top-level
the Internet. It also defines a mechanism through The top-level domain specifies the
which every computer on the Internet is identified omain such as type of organization. It comes
separately. Every computer on the Internet must ad of host name separated with dot (.). The
have this protocol. used top level domains are:

8.  How the use of Internet is affecting our society? Type of Institution
Give your comments. , 5 Business (commercial)

Ans. Bullying, trolls, stalkers, and crime. ... -eduEducational institutes
Exploitation and pornography and violent im .gquovemmen'l organizations
Addiction, time waster, and causes distractions. -org other organizations

N o o Why domain name is used? (FSD/GI-18)

Never being ahle to disconnect. ... . DNS stands for Domain Name Server. IP addresses

Identity theft, hacking, viruses, and ch are difficull 1o remember by the users. Every server

Spam and advertising. ... (or host) an the Internet also has a unique name. The

Affects focus and patience. ... human-readable name assigned to the computer

(server) on the Internet is called the domain name. It

Depression, loneliness, and soci is a common and unique text name and is allernative
From Punjab Board: to an I address.

R 5) How does TCP/IP transmit data?

D) Deftne Search Engine § (SGD/GI-18) (D.G.K-19)

¥ SD/G1-16) Ans. TCP/IP stands for Transmission Control Protocol /

) (FSD/G1-15), Internet Protocol. It is the communication protocol

used for Internet and similar networks such as

Intranet and Extranet. It controls and manages the

data transmission over the Internet. It also defines

Ans. Search eng cial websites. These a mechanism through which every computer on the
websites Internet users to search Internet is identified separately. Every computer
differenfMinfor on opf the Internet. Search engines on the Internet must have this protocol.
have become popular all over the world. | g)  YWhat is an ISP? Name some ISPs in Pakistan.

o yise ;‘;“;h ;:i'“;s:"p:;‘:;‘: (D.G.KIG1-15), (LHR/G1-15), (SGD/GI-18)
Sedr their URL addresses are: (MTN.I?) (FSD-I_B) (SGD.'BJ
Ans. ISP stands for Internel Service Provider. It is a
YAHOQY hnp://www.yahoo.com company that provides the Internet connections to the
ALTA VISFA hup://www.altavista.com users. There are many ISP companies in each country
ASK hutp://swww.ask.com of the world. You have to get an Inu:m_el connection
from any ISP company of your local city to connect

GOOGLE htip://www.google.com 1o the Internet. E.g. PTCL, [iberlink, storm [iber eic.



Computer [Part-1] Solved Past Papers 55 | Page
n Differentiate between internet and www. Video Conferencing Benefits

(GRW/G1-16), (BWP/G1-15), . Reduced Travel Time and Costs. The oldest

(RWP/G1-15) (GRW/GI-18) (D.G.K-19) re;ognlijsedheTe_ﬁt nfdvilleu conferencing is

Ans. Internet is a network of networks and WWW stands g |.Jce‘ Seavel time and e
for World Wide Web. The World Wide Web is s Optimised Atiendnnce.
commonly known as web. It is a network of web . Structured Meetin; proved
servers that stores web pages. The web pages are Communications. .
connected to each other using hyperlinks. The user . Increased Producti
can jump from one page to another by clicking the . Employee Retgntio
hyperlinks. The web pages are accessed using web
browsers. The HTTP protocol is used for * ) .
communication between browsers and web servers. 12)  Differentiate be and Web page.

8)  Write two facilities provided by Internel. (MIN/G1- -G-K-19) ((‘RW-]!E)

G Ans. The differe cbsite and a web page is
(BWP/G1-16) that a webs on of web pages with

Ans. The main services provided by Internet are: information on d 2 web page is a smaller
(i) Warld Wide Web (i) E-Mail te usually coniaining more
i) Telnet 5P n. Il a website were a book, then a
(i) Telnel Wi a chapter in that book.

(iv) File Transfer Protocol (FTF) AW 0 written as webpage) is a document
(v) Gopher (vi) Chat Groups ablé>Tor the World Wide Web and web

9) List all addressing schemes used for identifying . A th hm_wser displays a web page on a

computers on infernet. (MTN/G1-16), oL mobile device. ... The web server may restrict
RWP/GL18), (MTN/GI18) ja private network such as a corporate intranet
( -18), . ‘entiate between URL and Website,

Ans. Every computer connected 1o an internet has a unique (SWL/GI-18), (GRW/G1-17), (GRW/G1-15)
address. A computer is accessed by its address. . . ' 2 g
addresses are assigned to the computer accordi (hWLl(v’l-IS], (l—EWFIGl-l'I), (D.GK/GI-15),
sel of rules. These rules are called ad (BWP/G1-15), (FSD/G1-15),(FSD/G1-16)
schemes. URL is an abbreviation of Uniform Resource
On the internet. two types of addressing schemes a Locator; the glotl address of documents and, ather
used. These m__f P S resources on the World Wide Web. ... Weh Address

o e : or website address is just a layman's term for URL,
3) IP Addressing which is the technical term. URL = Uniform
4) DNS Addressing Resource Locator,
10) What is meant hy IP addressi 14) Difference Between URL and Web Address.
(LHR/G1-16), (MTNIG L) (A _ (SWL-19) (AJK-19)
A P g for T P URL stands for Uniform Resource Locator. A URL
s, b stands loz r:]lemet ol is the address of a particular website, audio stream or
that “"ﬂubnz Eo avf.o document available on the Web. URLSs consist of the
zume’?ﬁal a‘: re.s? with Internet protocol needed to access the item you wish
T:S;: n:;?a:r: (f 1o locate on the host compuler.
address is: 216, 15) Define the term “ARPANET". (SWL/G1-17)
Ans. During cold WAR America developed network
1 Dd—'_ne vide named Arpanet it was developed for advance research
of video eq project. It was used to send informaticn to armed
,(FSD/GI-18),(SGD/GI-18), forces at long distances.
FSD/GI1-17), (RWP/G1-15), | 16) What is basic function and uses of email?
-15), (AJK/G1-16), (MTN-19) (RWP/G1-17), (SGD/G1-17),
1-16), (FSD/G1-16) (SWL-19) (AJK/G1-16), (RWP/G1-16)
Ans. A Polcrence is a live, visual connection Ans. An email is a digital message sent electronically lrn.m
one compuler lo one or more other computers. Emails
between two or more people residing in separate
" S N are flexible and can be used for giving mslrucuuns
locations oy l.he purpose ol' cnmmumcalmn_ . Alits N . idi ey
. £ full- serving  as providing c
mast it p o communicating rules and  procedures, making

mation video images nnd high-quality andio between
multiple locations.

recommendations, providing a status update, making an
inquiry.
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Electronic mail (or e-mail or email) is an Internet
service that allows people who have an e-mail address
(accoumts) to send and receive electronic letters. Those
are much like postal letters, except that they are
delivered much faster than snail mail when sending
over long distances, and are usually free.

17) What is uploading and downloading of data?

(FSD/G1-16), (AJK/G1-16), (FSD/G1-16),
(MTN/GI-18), (SWL/G1-17), (FSD/GI1-17) (SWL-19)

Ans. Uploading means data is being sent from your
computer to the Internet. Downloading means your
computer is receiving data from the Internet.
Examples of downloading include opening a web
page, receiving email, purchasing music files and
walching online videos.

18)  Briefly describe web surfing / browsing / Internet
explorer.

(AJK/G1-16) (RWP/G1-16), (GRW/G1-16),

(D.G.K/G1-16)(GRW-19)

Ans. A web browser (commanly referred to as a browser)

is a software application for accessing information on
the World Wide Weh. Each individual web page,
image, and video is identified by a distinct UR
enabling browsers to retrieve and display them

Lo
a search engine, though the two are aften col
For a user, a search engine is just a website, such
google.com, that stores searchable daf about nlh:!r
websites. But in order to conncct
websites on their device, a user needs
browser installed The most popul

19)

Ans. blishing original
process  includes
updating the
sting content o these
blishing comprises of
community websites in

2 (LHR/GI-18)

is stored in a special kind of file, called a
. html files can be created in almost any

also snme ograms that help you create himl files. ...
You don't have to learn maore than 10 tags to be able
to create a simple web page.

21

)

Ans.

. A weh server is a program g

Differentiate between We.b Server and Web
Browser. (BWP/G1-17), (GRW/G1-15),

(RWT‘!GI-IS ), (SWL/GI-18)

a Server computer,
somewhere out on the Inte
pages to web browsers,
refers 1o an actual, physi
web server software. Web!

AP ogram or a
ther programs
between a Web

is that Web browser
tdiservices, and act as an

vides the technologies and services
vebsite or webpage to be viewed in
tes are hosted, or stored. on special
d servers. ... If you do not have a
the hosting companies will help you
ne.

h between HTTP and HTML.
(MTN/G1-17)

. HTTP stands for Hyperiext Transfer Protocol HTTP is

the underlying protacol used by the World Wide Web.
HTTP defines how messages are formatted and
transmitted, and what actions Web servers and
browsers should take in response to various commands.
For example, when you enter a URL in your browser,
this actually sends an HTTP command to the Web
server directing it to fetch and transmit the requested
Web page. HTML stands for Hypertext Markup
Language.This is a markup language (not a
programming language). It is used to creale web pages.
It is used in almost all of the websites. It is the basic
tool to design pages. The code written in HTML and
other related tocls when run on any browser, it forms a
web page.
So HTTP is a pratocal, that manages how text, images,
sound elc. are shared between client and server. HTTP
uses Hypertext to share this information,

‘What is the use of HTML for WWW?
(GRWI/G1-16), (BWP/G1-15), (RWP/G1-15)
(GRW/GI-18) (D.G.K-19)

Hypertext Markup Language (HTML) is the standard
markup language for creating web pages and web
applications. With Cascading Style Sheets (CSS) and
JavaScript, it forms a trad of comerstone technolagies
for the World Wide Web. .. HTML elements are
delineated by tags, writlen using angle brackets.
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25) Distinguish between HTTP and FTP. 29) Why newsgroups are created on internet?
(LHR/GI-18), (GRW/GL-18), (FSDIGI1-17), (LHR/G1-17) (SWL-19)
(LHR/G1-15), (RWP/G1-17) Ans. Because newsgroup is an Internet-based discussion
Basis for around an individual, enuly o} zation or lopic.
Comparison MTTP ELE, gl ected users 1o

Fare share, dlst ufl i
! HTTP is used tof| 10, wassters filg
Basic N . from cne one hosl|
laccess websites.
to another. 0
HTTP establishes ﬂ.ﬂi‘:‘i‘ﬁi By Ans. T B
5 i signals,
IConnection gﬁﬂ connection| data and one for thel 8!
¥ lcontrol connection. optical  or
FTP  uses TCP's| Telecommund

[TCP ports HITF uses TCF's port number 20 and| information
[port number 80. a1 2
If you are using||If you are using

URL HTTP, http will||FTP, fip will
appear in URL.  |Jappear in URL.

HTTP is efficient . the radio bm.n]:uslmv syslem,
n ::—:::r::: ETP is efficient in s and the Internet.

Efficient smaller fil rkgmr-.msrerring larger| protocol? (RWP-19)
smg er Diles  Like AnS§ protocol defines rules and conventions
veb pages. 4 mmunication between network devices.

o HT'I‘_P does nat FTP  requies o k' protocols include mechanisms for devices

Authentication ||require passward, y and make connections with each other, as
authentication. @ljas formatting rules that specify how data is
IThe content . lpackagcd inte sent and received messages.
transferred 10 4 I}hihgleh:im’f:" A ?.'!Z Define computer network. (GRW-19)

1 device using|| . FT l;‘ | Ans,, A computer network is a set of computers connected

Data HTTP is not saved||">'"& 15 3 together for the purpose of sharing resources. The most
to the memory of] {g ﬂ;‘e “:":'."ry common resource shared today is connection to
that device. m ﬂSl:\me the Internet. Other shared resources can include a

26) Which types of files can be attac] E-mail s ::s[?ger:rd :mt;:;“if:::m'_l;l;ilmeme‘ igelf can be

A messages2(GRW/GL-17), (GRW/GI-18 33) 'What is server computer? (GRW-19)

ns. An email attachment is a file s .

i F 1ol Ans. Aserveris a computer or system that provides
et R message. For examp . resources, data, services, or programs to other
graphic, a SpfmdSh“m‘ Ssing computers, known as clients, over a network.
document. Sending attach pd way o, There are manytypes of servers, including
transfer a copy of a fil recipient web servers, mail servers, and virtual servers.
have agreed on a forms 34)  Write any three uses of the internet.  (SGD.19)

27) Who is the owner ofgnte: (SGD/GI-18) Based on a recent survey of Internet traffic, the 10 most

Ans. No one actually and no single | popular uses of the Infernet in descending order of use are:

person or org: »  Electronic mail. ...
entirety. The Id f o concept than an | » Research.
i if/relies on a physical | >  Downloading files.
nelworks to other | » Discussion groups. ...
» Interactive games
28) impacts of internet on | > Educationand sell-improvement. ...
HR/G1-17), (LHR/G1-16) ¥ Friendship and dating. ...
Ans. of use and availability comes a | > Electronic newspapers and magazines.
ical activity. While spending hours -
1 on the internet, youngsters are left with Lon uestions
r other tasks, especially healthy physical
activity. .. No long questions in this Chapter by Punjab
Cyber Crime. ... Text Book Board.
Psychological Blocks. * $ * *



